UGC NET 2021 Prakrit

Topic:- 91PRAKRIT_A

1) . . .
The language of tiloyapannatti belongs to this age

(1) Primary Prakrit (2) Tertiary Prakrit
(3) Modern Prakrit (4) Secondary Prakrit
T = 5 3| g i 7
(1) wom i @ g i
(3)  #AgfE T @) fgEm e

[Question ID = 1806][Question Description = Q01_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7221]
2. 2 [Option ID = 7222]
3. 3 [Option ID = 7223]
4. 4 [Option ID = 7224]

2
) Modern Indo Arvan languages have developed from the Prakrit of this age
(1) Modern Prakrit (2) Secondary Prakrit
(3 Primary Prakrit (4) Tertiary Prakrit

AT AR FEET 57 g W " H e 5 A

(1) =i Fi= (2) fadm i
(3)  wum Tm @) T T

[Question ID = 1807][Question Description = Q02_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7225]
2. 2 [Option ID = 7226]
3. 3 [Option ID = 7227]
4. 4 [Option ID = 7228]

3) By tertiary Prakrit you mean —
(1 Vedic language (2) The language with 'u’ ending in general
(3) Segregative language (4) Inscriptional Prakrit

A T T T T e R -

(1)  Afes wm (2) TR e A
(3)  FEMIEAE A (4) wfqerdE T

[Question ID = 1808][Question Description = Q03_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7229]
2. 2 [Option ID = 7230]
3. 3 [Option ID = 7231]
4. 4 [Option ID = 7232]

4)  Dasavaikalikasiitra has been created in this Prakrit

(1) Tertiary Prakrit (2) Secondary Prakrit
(3) Primary Prakrit (4) Modern Prakrit
TAIHITHEA 56 THd | T & -
(H  gim = (2) fedm T
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[Question ID = 1809][Question Description = Q04_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7233]
2. 2 [Option ID = 7234]
3. 3 [Option ID = 7235]
4. 4 [Option ID = 7236]

3) The word sibhar is substituted for word &1kara is in following prakrit
(1) maharastri (2) magadhi
(3 apabhrarmsa (4) paigaci

T 7152 = To70 FR 7R 1 e B W H R -

(1) Az {12'\1 (2) E= 1 i1
(3)  =wHm (@

[Question ID = 1810][Question Description = Q05_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7237]
2. 2 [Option ID = 7238]
3. 3 [Option ID = 7239]
4. 4 [Option ID = 7240]

6) The word hitapa 1s used for hrdaya in following prakrit
(1) magadhi (2) paisaci
(3 maharastrl (4) Zaurseni

£24 WsE o fofu f2ay wre2 =1 A T wrkd | = E -

(1) =R (2) Yo
(3)  mEmTE @) i

[Question ID = 1811][Question Description = Q06_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7241]
2. 2 [Option ID = 7242]
3. 3 [Option ID = 7243]
4. 4 [Option ID = 7244]

7) " The word gadcea 1s used for gaccha in following prakrit
(1) palsacl (2) ardhamagadhi
(3 magadht (4) Saurseni

= T2 o 70 9 I3 1 TE A Wi § = -

(1) o= (2)  srEEmE
(3) = (4) e

[Question ID = 1812][Question Description = Q07_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7245]
2. 2 [Option ID = 7246]
3. 3 [Option ID = 7247]
4. 4 [Option ID = 7248]

8) The word ammahe is used in following prakrit
1) apabhramsa (2) paisacl
(3) maharastrl (4) Saurseni

TR T 1 TERT (A A 6w R -
(1) =94 (2) Yoy
(3)  mERTH @) e



[Question ID = 1813][Question Description = Q08_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7249]
2. 2 [Option ID = 7250]
3. 3 [Option ID = 7251]
4. 4 [Option ID = 7252]

?) The last recention of ardhamagadhi canons was held at
(1 pataliputra (2) mathura
(3 valabhi (4) éravasti

VI el @ =@

(3) T (4) smaEEd

[Question ID = 1814][Question Description = Q09_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7253]
2. 2 [Option ID = 7254]
3. 3 [Option ID = 7255]
4. 4 [Option ID = 7256]

10)  Thisis not a work of Kundakundacarya

(1) asta pahuda (2) nivamsara
(3) samayasara (4) doha pahuda

(1) o= s (2) TETER

(3) EHEER (@) = UES
[Question ID = 1816][Question Description = Q11_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7261]
2. 2 [Option ID = 7262]

3. 3 [Option ID = 7263]
4. 4 [Option ID = 7264]

) The number of the chapters of uttarajjhayana is
1 19 (2) 36
3) 41 4) 98

ITTTAY F A i T -

1 19 () 36
3 41 4) 28

[Question ID = 1817][Question Description = Q12_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7265]
2. 2 [Option ID = 7266]
3. 3 [Option ID = 7267]
4. 4 [Option ID = 7268]

12 ; ; P
) Kamsavaho 1s the creation of this type —
(1 Ehandakavya (2) Muktakakavya
(3) sattaka (4) mnataka

‘Foasl 5@ faur i = E -
(1) HFUSHA (2) TFARHTA

(3) TE=F (4) =E



[Question ID = 1818][Question Description = Q13_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7269]
2. 2 [Option ID = 7270]
3. 3 [Option ID = 7271]
4. 4 [Option ID = 7272]

13) This 1s the first caritakavya in prakrit language
(1) mahaviracarivam (2) kanhacariyam
(3) paumacariyam (4) supasanahacariyvam

T T YRl FAHT 97 B -

(1) HedEr=hE (2) =vEdiE
(3) TEEEE (4) TIEAEERE

[Question ID = 1819][Question Description = Q14_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7273]
2. 2 [Option ID = 7274]
3. 3 [Option ID = 7275]
4. 4 [Option ID = 7276]

14)

This 1s the work of gunapala —
(1) mahaviracariyvam (2) jambicariyam
(3) rayanactdarayacariyam (4) puhavicandacariyam

ST T i = AR B -

(1) = (2) A
(3)  TEEETEERE (4) grdrEEElE

[Question ID = 1820][Question Description = Q15_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7277]
2. 2 [Option ID = 7278]
3. 3 [Option ID = 7279]
4. 4 [Option ID = 7280]

15 :
) The poet of the carudattanataka 1s
(1) aévaghosa (2) kalidasa
(3) bhasa (4) sodraka

(1) @
(3) 0T @ T

[Question ID = 1821][Question Description = Q16_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7281]
2. 2 [Option ID = 7282]
3. 3 [Option ID = 7283]
4. 4 [Option ID = 7284]

16)
Hemacandra was born in this Vikrama Samvat
(1) 1145 V.5. (2) 1245V.5.
(3) 1345 V.5. (4) 1545V.5.

TS A T TaEE T A e o -

(1) fad 1145 (2) fad. 1245
(3) fad. 1345 @ faH. 1545



[Question ID = 1822][Question Description = Q17_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7285]
2. 2 [Option ID = 7286]
3. 3 [Option ID = 7287]
4. 4 [Option ID = 7288]

17 : . ; :
) Apgnifarmai is the character in this plot —
(1) kuvalayamalakaha (2) samaraiccakaha
(3) Ilavaikaha (4) tarangavaikaha

AR 39 F91 = UH 7 -
(1)  FaAFEHIATHR (2) THTT=ETE
(3)  AciasEar (4) TEEEEA

[Question ID = 1823][Question Description = Q18_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7289]
2. 2 [Option ID = 7290]
3. 3 [Option ID = 7291]
4. 4 [Option ID = 7292]

18
) The nanapancamikaha is written by —
(1) dhaneévarasiirl (2) hemacandrasiiri
(3) mahesvarasirl (4) devendrasiri

AT % TEE R -

(1) =l (2) A=
(3) el (4) FE=Ei

[Question ID = 1824][Question Description = Q19_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7293]
2. 2 [Option ID = 7294]
3. 3 [Option ID = 7295]
4. 4 [Option ID = 7296]

19 ; : :
) The total number of javanikas 1n the &nandasundari sattaka are —
(1) four (2) three
(3) s1X (4) five

-

AFEGE TZeh 0 el FAH 7 -

H =n (2 A

(3) ) umE=

[Question ID = 1825][Question Description = Q20_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7297]
2. 2 [Option ID = 7298]
3. 3 [Option ID = 7299]
4. 4 [Option ID = 7300]

20) Idha na kim ci jivam arabhitpa prajahitavvam. The purport of this line of Asckan inscription
is —

(1) Many killed animals should be oblated here

(2) One killed animal should be oblated here

(3) No killed animal should be oblated here

(4) All the Inlled animals should be oblated here

B e e o e T e e i
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[Question ID = 1826][Question Description = Q21_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7301]
2. 2 [Option ID = 7302]

3. 3 [Option ID = 7303]
4. 4 [Option ID = 7304]

21)  ‘sarvata harapitani ropapitani ca’ This line of Asokan Inscription means —

(1) All the trees were suplied and made planted
(2) Trees were not suplied at all places
(3) Fruits were brought at all places

(4) Roots and fruits were supplied and made planted at all the places

"o wRIETE T
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[Question ID = 1827][Question Description = Q22_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7305]
2. 2 [Option ID = 7306]
3. 3 [Option ID = 7307]
4. 4 [Option ID = 7308]

22 G : ;
) Mahameghavahanena cetirfjavasa — vadha nend. Who 1s related with meghavahana of the

above line of Hathigumpha inseription?

(1) Magadharaja (2) Kharavela
(3) Nandaraja (4) Brhaspatimitra

Ly =y S Y = 1 0o S bl o A *: ¥ [ N 3.
HETHEETE-A Afeanasa-s  adiF ifheng i 39 9fh & J9dred & g9y ey 27

(1) =TT (2) @REe

(3) =T (4) FEaEEA

[Question ID = 1828][Question Description = Q23_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7309]
2. 2 [Option ID = 7310]
3. 3 [Option ID = 7311]
4. 4 [Option ID = 7312]

23 s % : ; S i
) Thas 1s the language of ghatiyala inscription

(1) Sanskrit (2) Apabhramsa
(3) Prakrit (4 Pah
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(1)  =5Fa (2) w7y
(3) T (4) =

[Question ID = 1829][Question Description = Q24_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7313]
2. 2 [Option ID = 7314]
3. 3 [Option ID = 7315]
4. 4 [Option ID = 7316]

24) The chapters of vritajatisamuccayva are named as —
(1) pariccheda (2) parva
(3) asvasa (4) niyama

FEATAHG=E 09 F ASIE F AH TR B -
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r

(1) =33 (2 W&
(3) AT (4) T=m

[Question ID = 1830][Question Description = Q25_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7317]
2. 2 [Option ID = 7318]
3. 3 [Option ID = 7319]
4. 4 [Option ID = 7320]

25
‘ This is the lexicography compiled by Hémacandra
(1) Prakritkosa (2) Amarakoga
(3) Desinamamala (4) Visvalocanakosa

W= FEEE A1 A w0 A R -

(1)  STHTRm (2) R
(3)  =efemEEn (4) FrawEAHm

[Question ID = 1831][Question Description = Q26_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7321]
2. 2 [Option ID = 7322]
3. 3 [Option ID = 7323]
4. 4 [Option ID = 7324]

26)  He is the author of sadbhasacandrika a grammatical text —

(1) Simharaja (2) Laksmidhara
(3) Trivikrama (40 Hemacandra

TEHIITEIE5] AT 074 = T 98 7 -

(1) T (2) @EHER
(3)  fafm @) ===z

[Question ID = 1832][Question Description = Q27_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7325]
2. 2 [Option ID = 7326]
3. 3 [Option ID = 7327]
4. 4 [Option ID = 7328]

27) He 1s the author of the grammar text prakrita ripavatara —
(1) simharaja (2) hemacandra
(3) vararucl (4) canda

A EEAR ST 37 = T B -



(1) == 2) ==z
(3) T=ME 4) =vs

[Question ID = 1833][Question Description = Q28_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7329]
2. 2 [Option ID = 7330]
3. 3 [Option ID = 7331]
4. 4 [Option ID = 7332]

28) This 1s the example of assimilation —
(1) kankano (2) akko
(3 caficala (4) siddhi

7 G 1 ISE -

5

(1 = (2) FFH
(3) e 4) Tag

[Question ID = 1834][Question Description = Q29_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7333]
2. 2 [Option ID = 7334]
3. 3 [Option ID = 7335]
4. 4 [Option ID = 7336]

29) This word has vowel sandhi —
(1) kamalavanam (2) rayaniyvaro
(3) nayarajano (4) bamhanando

=H 7%E A EREY E -

(1)  =F=eE (2) T
(3)  Ea (4)

[Question ID = 1835][Question Description = Q30_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7337]
2. 2 [Option ID = 7338]
3. 3 [Option ID = 7339]
4. 4 [Option ID = 7340]

30) This word 1s not a participle —
(1) hasanti (2) bhanamano
(3) bhalifina (4 egantum
T7 IS Fard A F -
(1) =m= (2) womEm
(3) @iz @ 74

[Question ID = 1836][Question Description = Q31_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7341]
2. 2 [Option ID = 7342]
3. 3 [Option ID = 7343]
4. 4 [Option ID = 7344]

3N This 1s a pronoun word —
(1) gacchal (2) nivvana
(3) ke (4) sammam

TE oA I B -



()  T==E (2) TF=m
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[Question ID = 1837][Question Description = Q32_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7345]
2. 2 [Option ID = 7346]
3. 3 [Option ID = 7347]
4. 4 [Option ID = 7348]

32 _
) The Logavijao’ chapter of Acarangasiitra mainly deals with this
(1) Earmabandha (2) Lokacara
(3) Iecha-Vijaya (4) Iccha-parimana

ATENTEE 1 @A S5 9eT €9 § 39 a9 5 T Fw6an -

(1)  =FHe (2) wAFER
(3) TemI-faum 4) z=zI-ufEm

[Question ID = 1838][Question Description = Q33_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7349]
2. 2 [Option ID = 7350]
3. 3 [Option ID = 7351]
4. 4 [Option ID = 7352]

33) S— S
The statement "egarm jine]ja apponarh esa se paramo jao’ 1s quoted from
(1) Pravacanasara (2) Uttaraddhyvayanasttra
(3) Dravyasamgraha (4) Sammaisuttam

‘i THvisS AT UE H W A A% e TH T Igd 7 -

(1) TEF=En (2) T
(3) TR (4) TFEEEA

[Question ID = 1839][Question Description = Q34_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7353]
2. 2 [Option ID = 7354]
3. 3 [Option ID = 7355]
4. 4 [Option ID = 7356]

34 ) . =
) The Dasavaikalikasatra belongs to this category of Ardhamagadhi Agama texts
(1) Chhedasttra (2) Arigasitra
(3) Mialastitra (4) TUpangasitra

[Question ID = 1840][Question Description = Q35_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7357]
2. 2 [Option ID = 7358]
3. 3 [Option ID = 7359]
4. 4 [Option ID = 7360]

35 The language of the Pravancanasara is —
(1) Paisact (2) Magadht
(3) Maharastri (4) Sauraseni

Ta=ET 9T R -
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(1) T (2) =P
(3)  wewigl 4) i

[Question ID = 1841][Question Description = Q36_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7361]
2. 2 [Option ID = 7362]
3. 3 [Option ID = 7363]
4. 4 [Option ID = 7364]

36) The language of Samaraiccakaha is
(1) Sauraseni Prakrit (2) Maharastr Prakmt
(3) Gandhar Prakrit (4) Ardhamagadhi Prakrit

HHTS=EaT il 9197 & —

(1) it A (2) mERTE WA
(3) TRl WA (4)  wrgAmTE T

[Question ID = 1842][Question Description = Q37_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7365]
2. 2 [Option ID = 7366]
3. 3 [Option ID = 7367]
4. 4 [Option ID = 7368]

37) The title ‘Abhimanameru’ 1s related to
(1) Poet Puspadanta (2) Poet Dhanapala
(3) Poet Svayarnbhii (4) Poet Raidha

1) = s (2) = g
(3) = ==Y (4) =Y

[Question ID = 1843][Question Description = Q38_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7369]
2. 2 [Option ID = 7370]
3. 3 [Option ID = 7371]
4. 4 [Option ID = 7372]

38
) One of the major incidents depicted in setubandha is —
(1 Gaudavadha (2) Ravanavadha
(3) Kamsavadha (4) Dhurtavadha

Tgeg | A U T = E

(1) iEEy (2) TEwEH
(3)  FEaEg @ gTEg

[Question ID = 1844][Question Description = Q39_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7373]
2. 2 [Option ID = 7374]
3. 3 [Option ID = 7375]
4. 4 [Option ID = 7376]

39) “Pasivaumahu devi manochirama” referes to the Prayer of this Godess in nayakumaracariu
(1) Parvati (2) Sarasvati
(3) Laksmi (4) Durga

wEFEEEiE 4 ol w9y 3f g’ % g e 26 o e o 2
(1) o=t (2) ==t

fal C

(3)  =&Hl (4) =



[Question ID = 1845][Question Description = Q40_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7377]
2. 2 [Option ID = 7378]
3. 3 [Option ID = 7379]
4. 4 [Option ID = 7380]

40 :
) Read the following and choose the correct statements :

(A)  No Prakrit word has been used in Vedic literature

(B) Some forms have been used in Vedic literature of Ardhamagadhi Literature
(C) The earliest Digambara literature is in Primary Prakrit

(D)  The texts of Milasttra are found in Secondary Prakrit

(E) The language of Haribhadra's literature is in Secondary Prakrit

Choose the correct answer from the options given below :
(1) (A). (C). (E) only (2) (B). (C). (D) only

(3) (B). (A). (D) only (4) (C). (D). (E) only
freafafaa =1 72 A1 T8 FuE w91 -

(A) A w5 i o e o T e 2

(B)  dfew wifeea # $5 w9 wd qrre wiiEed & = #)

(C)  rian T mfaes wom i e | 21
(D) oA & 7= T i wrEa 1 2

4 fau 7o el § 1w 3= o = it

(1) %49 (A) (C) (E) (2) Fa (B) (C) (D)
(3) A (B) (A) (D) (4) %9 (C) (D) (E)

[Question ID = 1846][Question Description = Q41_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7381]
2. 2 [Option ID = 7382]
3. 3 [Option ID = 7383]
4. 4 [Option ID = 7384]

41)

Read the following and choose the correct statements :

(A)  All the medial aspirate consonants change to ‘ha’ in Prakrit

(B) In Prakrit. medial non-conjunct non-aspirate consonants ka. ga. ca. ja. ta. da are

dropped
(C)  The final consonant in Prakrit does not retain
(D)  All the words in Prakrit are vowel ending

(E) The anunasika is not ardha anusvara

Choose the correct answer from the options given below :

(1) (A (B). (E) only (2) (D). (E). (A) only
(3) (B). (C). (D) only (4) (C). (D). (A) only

(A) A § T TEEH SR e ® § URArd w7 A w



(B) WA § HEASAl SEEE AN =95 F T 9 7 A 3 A & 9 2
(C)  uTd o w2 °§ afeam =i FuEd TE =

(D)  wra § T ez = A A

(E)  =/ATas #d s = T4 2

Hi fau o famedt § 9 w7 o = i)

(1)  F== (A) (B) (B) (2) == (D) (E) (A)
(3)  #a (B) (C) (D) 4 == (C) (D) (A)

[Question ID = 1847][Question Description = Q42_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7385]
2. 2 [Option ID = 7386]
3. 3 [Option ID = 7387]
4. 4 [Option ID = 7388]

42)

Read the following and choose the correct statements :

(A) Some non-aspirates change to aspirate in Prakrit

(B) Some aspirates also change to non-aspirates in Prakrit
(C) The cause of letter elison 1s not easiness of pronunciation
(D) The word ‘eka’ is used in many senses

(E) The pronoun ‘tat’ can not be used as an adjective

Choose the most appropriate answer from the options given below :

(1) (A (C). (E) only (2) (B). (C). (E) only
(3) (&), D). (E) only 4) (A). (B). (D) only

(A) T § TS AT A FE H 5 A A
(B) U H e HETII e SFeam ot 5 W 2
(C)  ITFd =0T % ST F FHE0 I=AV GiEgT T4 2
(D) TF weE F WA FHF AGTH B 2

(E) ‘54 | =1 v e % =9 8 96 2 g

= f2u v fomel § @ wEE ST S W = i)
1)  F= (A) (©) (EB) (2) #a (B) (C) (B)
3 Q@) ) @ @ FE @ ® O

[Question ID = 1848][Question Description = Q43_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7389]
2. 2 [Option ID = 7390]
3. 3 [Option ID = 7391]



4. 4 [Option ID = 7392]

43)

Read the following and choose the correct statements :

(A)
(B)
(©)
(D)

(E)

The indeclinables are declined in cases for, they stand for verb
The indeclinables are not declined in case for they do not standa for any noun
Prakrit has dirgha sandh1

Prakrit has vrddhi sandhi

Prakrit has guna sandhi

Choose the most appropriate answer from the options given below :

(1)
(3)

(A). (B). (D) only (2) (B). (A). (E) only
(B). (C). (E) only (4 (C). (D). (A) only

(&)

(B)

©

D)

(E)

=g TIsa] % A ® 9ed # F40E 9 & 9w i 3

1= TTeE] % faafe =0 981 9o, 790 9 Rl 12 & T 99 26|
BIE f:rr-ﬁ'qfqr* == =']?-|'[n 7] %|
A | ghg afa w7

wEd | o mfE B 2

e 2o T e A ® wuE S9gE T A=A S

(1

(3

Fa4 (A) (B) D) (2) a4 (B) (A) (E)

a9 (B) (C) (E) (4) === (C) (D) (A)

[Question ID = 1849][Question Description = Q44_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7393]
2. 2 [Option ID = 7394]
3. 3 [Option ID = 7395]
4. 4 [Option ID = 7396]

44)

Read the following and choose the correct statements :

(&)
(B)
(©)
(D)

(E)

The number of karaka is six. where as. the number of Vibhakti is seven
The intransitive verbs become transitive when made causal
Intransitive verb is that which accomplishes with other the subject
Aorist is not found in Prakrit

Ysruti 1s not a natural phenomena in Prakrit

Choose the most appropriate answer from the options given below :

(1)

(B). (C). (E) only 2) (C). (D). (E) only



(3)  (A).(B). (D) only 4) (A (O). (E) only

frferfga #1 72 =1 78 F9 F T
(B) e et i T sAH W HsES B Al A

(C)  3TFH 131 9% =il & S hal & FAeTa FhEl 5191 0 A

(D) T § TEYTE 6w

(E) = gfa wwFa 1 vk mnaitas i a9 2|

1 fau v famel § @ weE ST S A = i)
(1) & (B) (C) (E) (2) F== (C) (D) (E)
(3)  Fa (A) (B) (D) (4) FF9 (A) (C) (B)

[Question ID = 1850][Question Description = Q45_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7397]
2. 2 [Option ID = 7398]
3. 3 [Option ID = 7399]
4. 4 [Option ID = 7400]

43) Read the following statements :
(A)  Apabhramséa is vending language
(B) Sa 1s changed to $a in Saurseni
(C) More than two consonants are not coming as conjuct in maharastn
(D) Vasantasena speaks magadhi in mrachukatikam
(E) Word Ahakkhata 1s used for Yathakhyata in ardhamagadhi
Choose the correct answer from the options given below :
(1)  (C). (D). (E) only (2) (B). (O). (D) only
(3) (A (C). (E) only (4) (A). (B), (D) only

7= e T -

(A)  TTET IEE A T 2|
(B) el § | v ufEas @ g w@T 2l

(C) Tewri ® 31 AT e[ YT EY ° A A 3

(D)  T=IHFY T FHEAT ORI A

(E)  =19Ame 9 Tumsa & fofw s 1 3= B



Hi f3u U faeheat 8§ | 39 W ==E it

(1)  Fa« (C) (D) (E) (2) === (B) (C) (D)

(3) =A< (A) (C) (B) (4 == (A) (B) (D)

[Question ID = 1851][Question Description = Q46_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7401]
2. 2 [Option ID = 7402]
3. 3 [Option ID = 7403]
4. 4 [Option ID = 7404]

46) Read the following and choose the correct statements :

(A) Some rules of Maharasti1 are found in ardhamagadhi also

(B)  Magadhi is identified by the rule of ‘ra’ and sa changing to la and $a respectively
(C) The change of ta to da is found only in Saurasa
(D) Tamotarois a word of paidacl

(E) e 1s not the suffix of magadhi for a ending noun 1n nominative singular

Choose the most appropriate answer from the options given below :
(1)  (B).(C). (E) only (2) (A, (B). (D) only

(3 (O). (D). (E) only (4) (D). (E). (A) only
(A) WERT F F FEm wdEed | off am s 2

(B) 130T F FO9: T AT ° ofms o gt vear = 2

(C) ' @1 T ¥ ufiadq e Al | 2 2|
(D)  aEE deIE T e w

(E) 3= GferT T9HT UF F= 1 © Te5d qETHT #1628

= fgu 1o fohedl @ W HEH 39 A T =94 HA)
(1) %3 (B) (C) (E) (2) %= (A) (B) (D)
(3) A (C) (D) (E) @ %= (D) (E) (A)

[Question ID = 1852][Question Description = Q47_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7405]
2. 2 [Option ID = 7406]
3. 3 [Option ID = 7407]
4. 4 [Option ID = 7408]

47) Read the following statement and choose the most appropriate statements :

(A) The word cittha is used for tislha in saurseni

(B) The word hadakka is used for hradaya in paisaci



(C) The word cappura 1s used for karpura in apabhramsa
(D)  The word bihapphai is used for brhasputi in maharastri

(E) The word duvalasa is used for dvadasa in ardhamagadhi

Choose the correct answer from the options given below :

(1) (A). (B). (C) only (2) (B), (D). (E) only
(3) (B). (C). (D) only (4 (A). (D). (E) only

(A) iEE ¥ s v F o oz wes v w2
(B) eI H 599 weg % (o7 wS@ wsg =1 WAM Bl
(C) = 7% F fofw =0 w1ayw ° 952 %1 TAm e 2
(D) TEweA | sl w2 % fom fech oz v oo 2

(E) 3w wes # o srdmmelt § ganes wes #1 wm foer 2

A= o o fasel | § WA 3 1 999 i)
(1)  Fa9 (A) (B) (O) (2) #a (B) (D) (E)
(3) == (B) (C) (D) @) === (A) (D) (B)

[Question ID = 1853][Question Description = Q48_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7409]
2. 2 [Option ID = 7410]
3. 3 [Option ID = 7411]
4. 4 [Option ID = 7412]

48) Read the following statements and choose the most appropriate statement :
(A) da i1s changed in to ta in magadhi
(B) sa 1s changed 1n to 8a 1n saursem
(C)  jaischanged in to ca In paisacl
(D) The word bharata is changed in to bharaha in muharastri
(E) The word haum is also used for aham in apabhramsa
Choose the correct answer from the options given below :
(1) (&), (B). (E) only (2) (C), (D). (E) only
3 (A (O).(D)only (4) (B). (D). (E) only

=1 e 72|

(A) T H 3 o i | 6 A R



(B) e § 9 % UREdd 7§ 2 2
(C) ot ® 5 1 witada = | =@ )
(D) HEWIl O WA vse 1 UfiEde Wi ° w7

(B)  om9% § 32 72 & forg =3 =1 s oft 2 21

Hr= fou o famedt § @ H®A 3T W 959 Hiw)
(1) %= (A) (B) (B) (2) == (C) (D) (E)
(3) =A< (A) (C) (D) (4) %3 (B) (D) (E)

[Question ID = 1854][Question Description = Q49_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7413]
2. 2 [Option ID = 7414]
3. 3 [Option ID = 7415]
4. 4 [Option ID = 7416]

49) Read the following statements and choose the most appropriate statement :
(A) Tiloyapannatti is a text of karananuyvoge
(B) Kasaya pahuda 1s other wise called as pejjadosa pahuda
(C) Vinoba Bhave gave Inspiration to compile the samaha suttam
(D)  Jinad3asa has composed niryukti on Milactra
(E) Kundkundacarya has composed satkhandagama
Choose the correct answer from the options given below :
(1 (A). (C). (D) only (2) (A). (B). (C) only
(3  (©). (D). (E) only (4) (B). (D). (E) only

=1 o 72

(A)  faemEwetT Fomg T w5 Ay F

(B)  THETUIES H FAGHAH UswaE TES |

(C)  HHES % Tehet =i THON T 9 A A i
(D) goER W T A e R
(B) wz@Ezrm f =4 Fegaad 7 #i 2

e f2u T fameat & @ w4 3 w0 =m il

(1)  Fa= (A) (©) D) (2) a4 (A) (B) (O)

(3)  Fa= (C) (D) (E) @) = (B) (D) (E)



[Question ID = 1855][Question Description = Q50_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7417]
2. 2 [Option ID = 7418]
3. 3 [Option ID = 7419]
4. 4 [Option ID = 7420]

50) Read the following statements and choose the most appropriate statement :
(A) The name of the third part of samana suttam 1s Elements of philosophy
(B)  Life sketch of gosalaka 1s narrated in fifth sataka of bhagavati sttra
(C)  The deseription of @srava and samvara is in prasnavyakarana sttra
(D)  The description of karma theory 1s in pindamryukti
(E) The method of drama has been mentioned in rajaprasniya sitra
Choose the correct answer from the options given below :
D ®.(C). D) only @ (&) ®). (D) only
(3) (B). (D). (E) only (4) (A), (C). (E) only

= o[ 2

(A)  THYES % FAE GUS AW 959 7

(B)  WECEA F T=d TaF H AT F ST G 2
(C)  w==arehiml g3 H§ 36 31 et &1 99 2|

(D)  Tavstelfs 4 =4 fagrma =+ avE 2)

(E) TEw=a g3 | TeAiia 1 Sead 2|

= f2u o faskedt § @ =F SR =9I Hifaw)

(1) === (B) (C) (D) (2) = (A) (B) (D)

(3) Fa9(B) (D) (E) (4) a9 (A) (C) (B)

[Question ID = 1856][Question Description = Q51_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7421]
2. 2 [Option ID = 7422]
3. 3 [Option ID = 7423]
4. 4 [Option ID = 7424]

51)  Read the following statements :
(A) Kuvalayamalakaha is the work of 224 century
(B) Nemicandrasiiri is an author of mahavira carivam
(C)  The time of lakSmanagani is twelfth century

(D)  Anantahamsa is a poet of 4™ century

(E)  The time of jinaharsastri is fiffteen century



A LIDUST LILC LULLCLL allowwiol LUULLL LD UPLIVLLD SLlvoLL LDELUVY .

(1) (A). (C). (D) only (2) (A), (B). (D) only
(3)  (B). (O). (E)only 4) (B). (D). (E) only

fr=feifiga #ee ofew -

(A)  FAcEEERET g8 T = R

(B)  meErEtE A gt g fafe 7|

(C)  =vmormioy =1 oo 1241 @4 7|

(D)  wAaeE = wE F wE R

(E)  Tomegit 1 a9= wadi o4l 21

fr= fau o fapoqi | @ @@ 3 w1 === Fifaw)

(1)

(3)

Fae (A), (C) 3 (D) (2) === (A) (B) #i7 (D)
a9 (B) (C) 311 (E) (4) = (B) (D) 371 (E)

[Question ID = 1857][Question Description = Q52_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7425]
2. 2 [Option ID = 7426]
3. 3 [Option ID = 7427]
4. 4 [Option ID = 7428]

52)

Read the following statements :

(A)
(B)
(©)
(D)

(E)

setestandha is divided in 15 cantos

the hero of gaudanaho 1s manaveda
lilavaikaha iz a work of koihala
kumaravala cariyam 1s a work of vakpatiraja

pravarasena has composed paumacarigam

Choose the correct answer from the options given below :

(1

(3)

(B). (D) only (2) (A), (C) only

(B). (C). (D) only (4) (A). (B). (E) only

frefeiEa w9 afen -

(&)

(B)

(©)

D)

Faeey 15 A | G 2

A eATasTel FiFad I = 2



(E)  v=9=nE = T9iEA 7 o 7|

= fou o et |5 | 9 3 S 959 Sifan)

(1)  Fa= (B) 3% (D) (2) FE (A) 377 (C)

(3)  FAw (B). (C) #F (D) (4) = (A), (B) 31 (E)

[Question ID = 1858][Question Description = Q53_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7429]
2. 2 [Option ID = 7430]
3. 3 [Option ID = 7431]
4. 4 [Option ID = 7432]

33) Read the following statements :
(A)  the meaning of word ‘hindi is wandering in vasudenahindi
(B) nmiravanalilavatikatha 1s a work of 8™ century
(C) gaudavaho 1z divided in kulaka
(D) samaralccakaha is a narrative poetry
(E) kaharayanakasa is a work of nemicandrasiiri
Choose the most appropriate answer from the options given below :
(1) (B). (C). (D) only (2) (A). (B). (E) only
(3) (A). (C). (D) only (4) (A, (B). (D) only

FefAfEs #94 Jfen -

(A) FEEaEd 1 TS e owd g 2

(B) TEmETETEdE arat w8 A = A

(C)  T=sami Hohl | a9 2|

(D)  FETE=EE FAH 2

= Tou 7o fashedt § 0 HeE S IEE 1 =9 HIA0)

(1)  Fa4 (B). (C) 3% (D) (2) F= (A). (B) 51 (E)

(3)  =A (A). (C) #F (D) (4) %99 (A) (B) #iT (D)

[Question ID = 1859][Question Description = Q54_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7433]
2. 2 [Option ID = 7434]
3. 3 [Option ID = 7435]
4. 4 [Option ID = 7436]

54)  Read the following statements :

(A) Poetry and narrative are found in prakrit literature



(B) Madraraksasa 1= a work of bharabhiste
(C) There are ten types of ripaka
(D) Swapnavasavadattam is a work of mahakavi Bhasa

(E) All the characters use prakrit in drama

Choose the most appropriate answer from the options given below :

(1)  (A).(C). (D) only (2) (&), (B). (E) only
(3) (B). (D). (E) only (4) (B), (C). (D) only
Tefefaa #eam gfee -
(A)  Fr=F IR FAT T4 Aiecd 7 I A B
(B)  HgTEE WY =i = 2
(C) =% % =9 U%N 7id £
(D) TAEEETE FETRE 9T # E 2
(E) == ° Wefi I WA 1 TR A A
= 3w o fashei § 0 Ao 39 A 1 =9 S
(1)  F3 (A), (C) 7k (D) 2) T (A). (B) 3 (B)
(3) == (B). (D) 4 (B) 4 ¥ (B). (C) %R (D)

[Question ID = 1860][Question Description = Q55_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7437]
2. 2 [Option ID = 7438]
3. 3 [Option ID = 7439]
4. 4 [Option ID = 7440]

55)

Read the following statements :
(A) The heroines use saurasenI in dramas

(B) The carudattam 1s a work of kalidasa

(C)  The first dramatic uses of prakrit is found in dramas of advaghosa

(D)  The time of mrechakatikam is first centrury

(E) The hero in the dramas 1s not using prakrit language

Choose the most appropriate answer from the options given below :

1y (4. (O), (D) only (2) (A (B). (D) only

(3 (A).(C). (E) only (4) (A). (D). (E) only

TefeTiiEa e TiE0 -



(A)  ATZF H ATEF AREATN 1 =0 F44G0 &2

(B) =Ed TEE FiaeE i FA B

(C)  WIdl & W¥H AZHE TAT AT & AZH H Herd 2

(D)  ToweH T THATHE TOH T E

(E) T2 8 9% THd 9T FH TEAF T4l A 2

Fret 3w e fapedt | | weE U I9 T = iy
(1) === (A). (C) = (D) (2) =Ha= (A). (B) = (D)
(3) ¥ (A), (C) 311 (B) @) Fad (A). (D) = (E)

[Question ID = 1861][Question Description = Q56_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7441]
2. 2 [Option ID = 7442]
3. 3 [Option ID = 7443]
4. 4 [Option ID = 7444]

36) Read the following statements and choose the most appropriate statement :

(A) In the dharmayatra started by Adoka. Brahmanas and éramanas were visited and

given donation.
(B) King Kharavela, expert with special merits was respectul to all the sects.
(C)  Monks were worshipped in the dharmayatra.
(D) Sects were collected at one place in the dharmayvatra.

(E) The instruction has been given to end the harmony of one another in the Asokan

inscription.

Choose the correct answer from the options given below :

(1) (A), (B) only (2) (B). (E) only

(3) (D). (E)only (4) (O), (A)only

(A) ST ZAT TEY ST A TR S AHOT S 9 99T S 3 A S o)
(B) IS TS WHIZ WTES HE HUSE1 1 TEE 24 A 97

(C)  =vmn & Zmom 1 g i S |

(D)  GHEEn H HYSE] $1 U (AT S 90l

(E) =191 % sAf9eig § A6l Hiee F1 T9H HH H e 2

fr= fau ATt 9 9 OE I W =999 Firan)

(1)  F= (A) 37 (B) (2) === (B) 37 (E)



(3) &= (D) ¥ (E) @) = (C) 3R (A)

[Question ID = 1862][Question Description = Q57_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7445]
2. 2 [Option ID = 7446]
3. 3 [Option ID = 7447]
4. 4 [Option ID = 7448]

37) Read the following statements and choose the most appropriate statement :

(A) Kakkuka looked after his people like mother

(B) Ghatayala inseription is inscribed in Sanskrit

(C) Kharavela did not attack on Magadha

(D) Ghatayala inscription is two miles away from Jodhpura

(E) Kakkuka was like a teacher for children

Choose the correct answer from the options given below :

(1) (A, (E) only (2) (D). (C) only

(3)  (C). (B) only (4) (A), (B) only
(A)  THFHE A T H U HiGT F GHE AT
(B) T2 ATeE HEHd | Sohi B
(C) Wrdas A 774 W =S A2 =i i
(D) = At S # 2 diet 2 w2
(E) F9%% 5=l & (o0 & % a0 1|

Hr f2u 7o oo § & =F 3T 1 == Fiiao)

(1) e (A) 3 (E) (2) =4 (D) 3 (C)

(3)  Faa (C) 31 (B) (4) Fa (A) A1 (B)

[Question ID = 1863][Question Description = Q58_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7449]
2. 2 [Option ID = 7450]
3. 3 [Option ID = 7451]
4. 4 [Option ID = 7452]

58) Read the following statements and choose the most appropriate statement :
(A) The first Asokan inscription 1s related with animal protection
(B) The word ‘Bharadhavasa’ is inscribed in the Hathigumpha inscription
(C) Ghatayala inscription is in Pali language

(D)  Asokan inscriptions are inscribed in sansbrit



(E) "Dharmamahamatya” word 1s not used 1n the Hathigumpha inscrption

Choose the correct answer from the options given below :

(1) (B). (D) only (2)  (A). (B) only

(3) (C). (A) only (4) (A), (E)only

(&)

(B)

(©)

(D)

(E)

=

(1)

(3)

THTZ S T UG A T gadt 7
o wsg AR aftera § 3ehit 2
2T AT e AT A 2|
THTZ 3197 1 Ao TR § 36 A
FTeATER AfeTE § aREEE T A A6 A
fzu 0 faedt 9 @ HeE ST I #1999 Fim)
Fa4 (B) A (D) (2) a4 (A) F(B)

& (C) #IT (A) (4) Fa= (A) 3T (E)

[Question ID = 1864][Question Description = Q59_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7453]
2. 2 [Option ID = 7454]
3. 3 [Option ID = 7455]
4. 4 [Option ID = 7456]

59)

Read the following statements and choose the most appropriate statement :

(A) The Kharavela inscription is of 150 B.C.

(B) The Kakkuka inscription is inscribed in Apabhrania

(C) Kharavela inseription 1s in Samskrit

(D)  Asokan inscription has been digged out from Kanya bumari

(E) Asokan inscription is of third century B.C.

Choose the correct answer from the options given below :

(1) (A). (B) only (2) (B). (C) only

(3} (A (E)only (4)  (E). (D) only

(A)

(B)

™

WEE 1 AfgeE 150 2.9, # 2|
FeFEh 1 SAHeE SATEI q SR 2|

AT 3 AT T T 2



(D) 3 T wAfaemE FoEErl § T 2

(E) =19 o1 sifena €., ga =41 = 2

fr= fau o fobeat | o AeE S AL T =EA HiA)

(1) = (A) 31 (B) (2) =« (B) #(C)
(3) A (A) 3T (B) 4) F= (B) 5 (D)

[Question ID = 1865][Question Description = Q60_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7457]
2. 2 [Option ID = 7458]
3. 3 [Option ID = 7459]
4. 4 [Option ID = 7460]

60)

ERead the following and choose the correct appropriate statements :

(A)
(B)
(©)
(D)

(E)

Seventeen kinds of Samadhimarana are described in the Bhagawati Aradhana
Life of ten householders iz described in the Dadavaikalikasitra

‘Javandho bujjhaim kunai akajjaim bahuyaim’ the statement 1= given by Vasunandi
‘Anekanta’ 1s treated as the only Teacher of the world in the sammaisuttam

Jiva has been admitted as transitory in the Dravyasarigraha

Choose the most appropriate answer from the options given below :

(1)

(3)

(A). (C) and (D) enly (2)  (B). (D) and (E) only

(C). (B) and (D) only (4) (D). (E) and (A) only

(A)

(B)

(©

D)

(E)

T AT T WA 17 T 5 a0 2

ZIAFeTH! G W 38 ATEH % S av 2

‘FAT TSE T STEHAR qGAE, FIH A BA

AT | S 1 A 1 U 4 TS wE T A

TYE ° SE & e 5 T R

+r fou o faheat § @ HEE IUg T 99 i)

(1)

(3)

e (A), (C) 31 (D) (2) = (B), (D) 31 (E)
%= (C). (B) #7 (D) (4) == (D). (E) 31 (A)

[Question ID = 1866][Question Description = Q61_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7461]
2. 2 [Option ID = 7462]
3. 3 [Option ID = 7463]
4. 4 [Option ID = 7464]



61) Read the following and choose the correct statements :

(A) Drstivada, the source of Sauraseni jaincanons is accepted as an ancient text
(B) Six kinds of substances are described in the Dravyasarngraha

(C) Initiation of king Nami is described in the Bhagawatl Aradhana

(D) "Logavijao' chapter is a part of the Dasvaikalikasitra

(E) There are 44 chapters in the uttaradhyayanasttra

Choose the correct answer from the options given below :
(1) (A) and (D) only (2) (C)and (E) only
(3) (A) and (B) only (4) (D) and (B) only
(A)  IE S ST R SAEE g EE 9 e S 2
(B) F=99UZ U9 § @ 241 W 99 7
(C)  adi AW 9 § TS A9 il 9= F =0 F
(D) ‘ArfEasa TEE AT U 1 2
(E)  3vrsag=a | Fel 44 J599 7

it fau o el | O gE 3 #1999 i)

(1)  Fa (A) 7 (D) (2) === (C) 31 (E)

(3)  Fa (A) ¥R (B) 4) Fa9 (D) 37 (B)

[Question ID = 1867][Question Description = Q62_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7465]
2. 2 [Option ID = 7466]
3. 3 [Option ID = 7467]
4. 4 [Option ID = 7468]

62) Read the following statements and choose the correct statements :

(A) ‘No Hine no airitte’ - the statement is found in the Uttaraddhyavanasitra

(B) It is said in the Pravacanasar that he is Sramana who remains stable in happyness

and sorrow
(C) Preaching to protect six kinds of living beings 1s given in the Dasavaikalika
(D) 'Techau Agasasama anantiya — the statement is found in the sammaisuttarn

(E) Effect of seven addictions is described in the Vasunandisravakacara

Choose the correct answer from the options given below :



(1)

(3)

(A). (C) and (D) only (2) (B). (C) and (E) only

(C). (D) and (B) only (4) (B). (A) and (C) only

(A) o e o st wuE eI g 0 e 2

(B)  TE=EE § el T 2 TF 91 gE-g@ O TAEar T 9E 46 A

(C)  UsSE=E Fi 1 F4 F IUL9 FUAFNAD ° 7

(D)  ‘T=BRE ATTHEW AT - OfE JTsg § U 2|

(E)  Tea-=guH1 % UionHT & Gui agAie A 8 2

= T o feat | § T 3 0 99A it

(1) == (A), (C) #R (D) (2) Fa (B), (C) 3 (E)
(3)  #Fa (C). (D) i (B) 4 == (B). (A) R (0)

[Question ID = 1868][Question Description = Q63_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7469]
2. 2 [Option ID = 7470]
3. 3 [Option ID = 7471]
4. 4 [Option ID = 7472]

63)

Read the following and choose the correct statements :

(A)
(B)
(©)
(D)

(E)

Apabhramsa 1s the language of Paumacariu
The division of Paumacariu is in Sandhis
The period of Paumacariu 1s 9% C.E.

The author of Paumacariu is Vimalstiri

The Paumacariu is a sporadic poetry

Choose the most appropriate answer from the options given below :

(1

(3)

(A). (B) and (C) only (2) (A), (D) and (E) only

(C). (D) and (E) only (4 (B). (D) and (E) only

(&)

(B)

©

(D)

(E)

TIEEE W Ay 2

TEUElE F e Ot 2

TSHEE = T O] Tl 2

TSHERS & TgH Aarhd ey 2

I3RS gFaE A =



fr= fau 1o foppeai § O we 9T IEE T =EA HiAv)
()  F=4 (A). (B) 317 (C) (2) & (A). (D) ¥ (E)

(3)  FAw (C). (D) ¥ (E) (4) F== (B). (D) ¥7 (E)

[Question ID = 1869][Question Description = Q64_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7473]
2. 2 [Option ID = 7474]
3. 3 [Option ID = 7475]
4. 4 [Option ID = 7476]

o4) These prakrit authors have been mentioned in the Kuvalayamala Kaha
(A)  Sayyambhava Acarya
(B) Padalipta Sar
(C)  Silanka Carva
(D) Gunadhya
(E)  Hala Kavi
Choose the correct answer from the options given below :
(1)  (A). (B) and (C) only (2) (A). (O) and (E) only
(3) (B). (D) and (E) only (4) (B). (C) and (D) only
FATIATAT Fal S ThA TR Ieeg R T E

(A) T=EE EH

(B) Wl
(C)  wlemwEm
Dy TmeA

(E)  wmeria

J= f5u o foepei 9 ® wE I F == it

(1) =& (A), (B) 317 (C) (2) e (A), (C) 3T (E)
(3) 9 (B), (D) i (E) (4) a4 (B). (C) #11 (D)

[Question ID = 1870][Question Description = Q65_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7477]
2. 2 [Option ID = 7478]
3. 3 [Option ID = 7479]
4. 4 [Option ID = 7480]

65) Match List I with List IT :

ListI List IT

(A) Visa (I) absolutive participle



(B)
(©)

D)

agasl
devesunto

gantina

(II) numeral adjective

(ITI) past tense

(IV) ablative plural

Choose the correct answer from the options given below :

(1  (A)-(ID), (B)-IV). (O)-(ID, (D)-(D
(2)  (A)-0V), (B)-ID), (C)-(ID). (D)-(
(3  (A)-ID. (B)-IID). (C)-(IV). (D)-(D
4 (A-D, B)-ID, (C)-(I1I), (D)-IV)
TH-1 F wg g1 1 T i -
I
(A) =
(B) aFmEl
© ¥
(D) g
I foo o famedt § 5 = I A 99a i

(1)
(2)
(3)
4)

(A)-IID). (B)-(IV). (O)-0D). (D)-(D)
(A)-IV). (B)-(D. (C)-(II). (D)-(I)
(A)-(D). (B)-ID. (C)-(IV). (D)-(D)
(A)-I). (B)-(ID). (C)-(IID). (D)-IV)

T 1T
D) e Fa
(I[) dreamETE e
(D) e

(IV) "=l sga=m

[Question ID = 1871][Question Description = Q66_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7481]
2. 2 [Option ID = 7482]
3. 3 [Option ID = 7483]
4. 4 [Option ID = 7484]

66)

Mateh List T with List IT :
List I
(A) Bhariva
(B) Vanarasi
(C) khila
(D) gudhoyara

() sandhi
(I) anaptyxis
(III) metathesis

(IV) aspiration

Choose the correct answer from the options given below :

(1
(2
(3)
(4)

(A)-@D. (B)-(IV). (C)-(D). (D)-(1I)
(A)-ID). (B)-(D. (C)-IV). (D)-(1I)
(A)-aD). (B)-1ID). (C)-(IV). (D)-(D)
(A)-@V). (B)-(D). (C)-(IID). (D)-(II)

List IT



g1 % = g=h-11 =1 feem fifse -

(&)

(B)

)

g1
B e

= fou v el | | 9 I S 999 i

(1)
(2)
(3)
4

(A)-1). (B)-IV). (C)-(D). (D)-A1L)
(A)-(1ID). (B)-(D. (C)-1V), (D)-(ID
(A)-D). (B)-1ID. (C)-IV). (D)-D
(&)-aAV). (B)-(D. (C)-11I). (D)-(ID

FLIT
(D ==

(II) +=His
(IID) ===
(IV) w=raTfiT

[Question ID = 1872][Question Description = Q67_Prakrit_SHAAN_NOV21]

A W N -

67)

1 [Option ID = 7485]
2 [Option ID = 7486]
3 [Option ID = 7487]
4 [Option ID = 7488]

Match List I with List IT :

ListI

(A) angasitra

(B) mailasiitra

(C) cheda sitra

(D) prakirnaka sttra

List IT
(I) ni&itha sotra
(II) marana samadhi
(III) prasnavyakarana

(IV) avasvaka sitra

Choose the correct answer from the options given below :

(1)  (A-av). (B)-ID. (C)-dD. (D)-@D
2y  (A)-dI). B)-IV). (C)-@D). (D)-ID)
(3)  A-aD. B)-@. (O)-aV). (D)-AID
4 (A0, (B)-(IL). (C)-(IV). (D)-(IL)

Tt-1 % 7 FE-I1 =1 e fif -
I

(&) A

(B) TeA

(C) =T

(D) TR

I f2u o fameTt § |/ wE 3w 99 A

TH-IT
(D Ty =
(II) T@o7 HHTH
(III) 7=

(IV) STava=hi



(1
(2)
(3)
4

(A)-(IV). (B)-(D). (C)-(IID). (D)-(D)
(A)-(IID). (B)-(IV). (C)-(D). (D)-(IL)
(A)-d1). (B)-D. (C)-(IV). (D)-(IIL)
(A)-D). (B)-(II), (C)-(IV). (D)-(1I)

[Question ID = 1873][Question Description = Q68_Prakrit_SHAAN_NOV21]

1. 1 [Option ID = 7489]
2. 2 [Option ID = 7490]
3. 3 [Option ID = 7491]
4. 4 [Option ID = 7492]
68)
Match List I with List IT :
List I List IT
(A) ahakkhaya (I) magadh
(B) nomallia (II) apabhraméa
(C) kamval (IIT) ardhamagadhi
(D) sastavidhe (IV) maharastri
Choose the correct answer from the options given below :
(1)  (A)-dI). B)-aIV). (C)-aD. D)-@D
(2) (A)-ID). (B)-(I), (C)-(ILD). (D)-(IV)
3  A-@. B-II). (C)-IV). (D)D)
4) (A)-IV). (B)-(II). (C)-(D). (D)-(I1L)
AL F =Y FH-IL F e Aife -
I T
(A) FEFEE (I =
(B) iz @) s
(C) Fa= (IIT) =Admme
D) AR V) wERT
= fzu o fasedl § @ TF SR H =54 Hiw
(1) (A)-(I1T), (B)-(IV), (C)-(1). (D)-(D)
(2 (A)-aD. B)-(D). (O)-IIL). (D)-(IV)
(3) (A)-@). B)-(1II), (C)-(IV). (D)-(ID)
(4)  (A)-IV), (B)-I), (C)-(@), (D)-(TIT)

[Question ID = 1874][Question Description = Q69_Prakrit_SHAAN_NOV21]

A W N -

69)

1 [Option ID = 7493]
2 [Option ID = 7494]
3 [Option ID = 7495]
4 [Option ID = 7496]

Match List I with List IT :

ListI

ListII



()
(B)
(©)
D)

gsetubandha
kuvalayamala
Iilaval

dvyasravakavya

()  Uddyotanasfiri
(ITY komhala
(IIT) hemacandra

(IV) pravarasena

Choose the correct answer from the options given below :

(1
(2)
(3
(4)

(A)-ID). (B)-(IV). (O)-D). (D)~
(A)-1D). (B)-1ID). (C)-(D. (D)-IV)
(A)-@). (B)-(II), (O)-IID, (D)-IV)
(A)-AV). (B)-(D). (C)-AD). (D)-(1D

A1 % =1y gefi-IL 1 e i -

(A)

(B)

-1

-

]

FACHHTE

(C) Hiemas

D)

i f2u 7o faseul | O wE I #1999 S

(1
(2)
(3)
4

(A)-(ID),. (B)AIV). (C)-(ID). (D)-(T)
(A)-(D). (B)-(ILD). (C)-(D. (D)-aV)
(A)-(D). (B)-(II), (C)-(III). (D)-AV)
(A)-IV), (B)-(D). (C)-(I), (D)-(I1II)

11
@ SEEEEHR
(ID Hieet
(1) #==s

IV) wEEA

[Question ID = 1875][Question Description = Q70_Prakrit_SHAAN_NOV21]

A w N =

70)

1 [Option ID = 7497]
2 [Option ID = 7498]
3 [Option ID = 7499]
4 [Option ID = 7500]

Match List I with List IT :

(&)
(B)
(C)
(D)

List I
Giranara
kumariparvata
chatayala

mathura inscription

List IT
(I} kharavela
(II)
(I1D)

(Iv)

Adoka
Uttaradasaka sravaka

kakkuka

Choose the correct answer from the options given below :

(1)
(2)
(3)
4

(A)-d1), B)-D). (C)-(IV), (D)-(IIL)
(A)-(1D). (B)-(ID. (C)-(IV). (D)-(I)
(A)-0V). (B)-(I1I). (C)-(I). (D)-(II)
(A)-@). B)-IV). (C)-aL). (D)-(IIL)



-1 =6 A -1 =T WA =iy, —

(A)

(B)

(©

(D)

i1

Hr= fou o fasedt § @ HA ST 1 9EA FAC

(1
(2)
(3)
(4)

(A)-D). (B)-(D, (O)-IV), (D)-IID
(A4)-(ID). (B)-(II). (C)-(IV). (D)-T)
(A)-(AV). (B)-(IID). (C)-(D). (D)-(II)
(A)-O. B)-IV), (C)-(ID. (D)-(IIL)

fal

1T
D @
(I) =
(III) STEEF =%

(IV) FFF

[Question ID = 1876][Question Description = Q71_Prakrit_SHAAN_NOV21]

1. 1 [Option ID = 7501]
2. 2 [Option ID = 7502]
3. 3 [Option ID = 7503]
4. 4 [Option ID = 7504]
71) ; s
Match List T with List IT :
ListI List IT
(A) Prabrita laksana (I} alamkara
(B) rayvanavali (IT) chandah
(C) alamkaradappana (III) Vyakarana
(D) prakrit paingalam (IV) kosa
Choose the correct answer from the options given below :
(1) (A)-IV). (B)-(IID). (C)-(II). (D)-(I)
(2) (A)-(IL). (B)-(D). (C)-(ILD. (D)-(IV)
(3 (A)IID). (B)-(IV). (C)-(D). (D)-(1I)
)  (A)-D. B)-II). (C)-IV). (D)D)
i1 = Ty geii-I1 =1 e Hifse -
i1 Hi-1II
(A) wTFa-SE O ==
(B) T=omET I zE:
(C) HA=THR-THT (ITT) =T
(D) TTFaTTEH IV) Fm

fr= f2u Tu a8 | HE I w9 i




(1)  A-av). (B)-ID. (O)-AD. (D)-M
2 @-d). @)-@D. (O)-IID. (D)-@IV)
(3)  (A)-IID, (B)-(IV). (C)-(@). (D)-(II)
4 (A-O. B)-II), (C)«(IV), (D)-(ID

[Question ID = 1877][Question Description = Q72_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7505]
2. 2 [Option ID = 7506]
3. 3 [Option ID = 7507]
4. 4 [Option ID = 7508]

72) " Match List I with List I :
ListI List IT
(A) Kappuramanjari (I) 1l4tkce
(B) rambhamanjari (I) 18%c.e
(C) singaramanjari (III) 17Tk c.e
(D) candaleha (IV) 10®ce
Choose the correct answer from the options given below :
(1) (A)-(IV). (B)-(D, (C)-1D), (D)-(IIT)
(2)  A-IID, (B)-IV). (C)-(I), (D)-(1D)
(3)  (A-IID. (B)-ID. (C)-(D),. (D)-AV)
4 (A-aD. B)IV). (O-D). (D)-1ID
TH-1 % T F-11 1 e Hif -
-1 -1
(A) FOEEE (M) 147 ==
(B) Tam= D 184 =
(C) TPmH= (IIT) 174 ==
(D) =EerE (IV) 10+ =&

H= fou o famei 9 © W 3w == it

(1 (A)-(IV). (B)-(D. (C)-(ID). (D)-(IID)

(2) (A)-IID). (B)-(AV), (C)-(@), (D)-(II)

(3) (A)-ID), (B)-(ID), (C)-(D. (D)-(TV)

@  A)-dD. (B)-AV). (O)-(D). (D)-(III)
[Question ID = 1878][Question Description = Q73_Prakrit_SHAAN_NOV21]
1 [Option ID = 7509]
2 [Option ID = 7510]

3 [Option ID = 7511]
4 [Option ID = 7512]

A W N -

73)  Mwbeh Tiat Twvith Tist T 2

ListI List IT



(A)
(B)
(C)
(D)

Dravyasangraha
Bhagavatia radhana
Sammaisuttam

Dasavaikalika

(I) Sayyimbhava
(I) Nemichandra
(III) Sivarya

(IV) Siddhasena

Choose the correct answer from the options given below :

(1)  (A)-AID). (B)-1D). (CO)-IV). (D)D)
2y A-O. B®)-IV), (C)-01). (D)-(I1II)
(3)  (A)-AV). (B)-(ID). (C)-(D). (D)-(IID)
4y (A)-AD. (B)-dID. (C)-aV), (D)D)
-1 = =y gei-I1 =1 faem Hifse -
Tl-I
(A) FeEmE
(B) 9T SARTEAT
(C) =wy=En
(D) =oEFIAT
= fou o fErpenl | 9 9@ I 1 = i
(1)  (A-ID. (B)-D. (C)-(IV). (D)-ID)
2y A-@. B)-1V), (C)-aI). (D)-(ILI)
(3) (A)-(IV), (B)-(IL). (C)-(I), (D)-(III)
4)  (A)-aD, (B)«(IID), (C)-AV), (D)-(D

fad

T-I1
@O v
(ID) =fr=g
(IID) o=

[t

V) famema

[Question ID = 1879][Question Description = Q74_Prakrit_SHAAN_NOV21]

A wWw N =

74)

1 [Option ID = 7513]
2 [Option ID = 7514]
3 [Option ID = 7515]
4 [Option ID = 7516]

Match List T with List IT :

(A)

(B)

D)

ListI

Rajasekhara

Mahakavi Puspadanata

Jayavallabha

Uddyotanasiiri

List IT

(I)  duvihalankare vipphuranti, Ila
komalaim payaim dinti

(II) pailyakavvassa namo pailyakavvam ca
nimmiyam jena

(IIT) Atthau hou anatthau, kdmo vi galanta
pemma — virasao va

(IV) so sattao tt1 bhannai, doram jo

nadiyaim anuharai

Choose the correct answer from the options given below :

1) @-O. B-1V). (C)-a1ID). (D)-(ID
(2)  @-dn. B)-dID. (O)-IV). (D)-0
(3)  A-dD. (B)-(ID. (O)-(D. (D)-IV)
(4) (AT, (BY-(D. (CY-(ID. (D-(1I1D



FH1-1 = =1y =11 =1 e =it -

(A)
(B)
(€

D)

= Tau U Tt § H w39 S =9 hifan

(1
(2)
(3)
€Y

T

T

Hel=hi=q Il'_i.a

]

EEELa

(A)-@). (B)-(IV). (C)-11I). (D)-(II)
(A)-dD). (B)-(ID. (C)-V). (D)-(D)
(A)-dID. (B)-(1D. (C)-(D). (D)-AV)
(A)-@V), (B)-(D). (C)-(aD). (D)-(1L)

THi-1IT
M) IfEe=r faoEt=, Semmes = 7=

(II) TTsgF==rcd o1, TEged | e 5o
(II) 43 73 o003, +W 4 TeHa-TH-
et =

[Question ID = 1880][Question Description = Q75_Prakrit_SHAAN_NOV21]

AW N =

75)

1 [Option ID = 7517]
2 [Option ID = 7518]
3 [Option ID = 7519]
4 [Option ID = 7520]

Read the following and arrange in chronological order from early to later period.

(A)

(B)

(©€)

D)

(E)

Inscriptional Prakrit
Maharastrl
Ardhamagadhi

Sauraseni

Apabhraméa

Choose the correct answer from the options given below :

(1)

(3)

(&) (B) (D) (C) (E)

(&) (C) (D) (B) (E)

2) @ @A) ©)(E) D)

4 (O @ D E DB

FeAfeifiga =i U2 31 3v2 Yehlel @ 301 Hiel % HH § Faad 5|

(A)

(B)

(©

(D)

(E)

TERT

STETET

[

-



= fau T feereml @ @ wE S H = Fir

(L @ @B D)) (E) (20 B @ (©) E) D)
(3) (A (C) (D) B)(E) @ (©) &) (D) (E) B

[Question ID = 1881][Question Description = Q76_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7521]
2. 2 [Option ID = 7522]
3. 3 [Option ID = 7523]
4. 4 [Option ID = 7524]

76)  Read the following and arrange in order of their case and number :

(A) deva

(B) wanam
(C) savvesim
(D) tammi

(E) waecchena

Choose the correct answer from the options given below :

1 (A E)© B D) 2) (E)®B) ©C) D) @A)

(3} (O A) (E) B) D) 4 @B @A) (E)©) D)

A @
B) A
(C) w=ath
(D) A=
(E) ==au

= f2v o el § | =9E 39 & =9 Hieu

1 A (E)C) OB D) (2) (E)®B)(C) D) @A)

3  (© A E G D @ B @) E©) D

[Question ID = 1882][Question Description = Q77_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7525]
2. 2 [Option ID = 7526]
3. 3 [Option ID = 7527]
4. 4 [Option ID = 7528]

7) Arrange the following chapters of uttaradhyayana siitra in order :

(A) namipavvajja

Py R T



el s meels. = i ]
(C) citta-sambhiiti
(D) yajfilya

(E) vinaya

Choose the correct answer from the options given below :

(1) B (©) D) (E) @A (2) (C) D) &) (B) (E)

3 (E)A)©) B) D) 4 A E) D G (©)

TS T F T A 5 FAEEE e

(&)

(B)

(C)

(D)

(E)

I f2u o e § | B5E 3w 9 i

(1

(3)

B) (C) D) (E) &) (2) (C)(D) &) (B) (E)

(E) (&) (C) (B) (D) (4 A (E) D) @B ©C)

[Question ID = 1883][Question Description = Q78_Prakrit_SHAAN_NOV21]

A W N -

78)

1 [Option ID = 7529]
2 [Option ID = 7530]
3 [Option ID = 7531]
4 [Option ID = 7532]

Arrange following words according to case ending :

(A) jinesu
(B)  jinam
(©  jinae
(D) jinena
(E)  jinfo

Choose the correct answer from the options given below :

1y (O (E). (D). (B). (A) 2) (A (). (B). (D). (E)

3 (B). (D). (©). (E). (4) @ (BE). [B). (0). (D). &)



(A) o

(B)

(&R E

(D) o

(E)  faomen

= fau 7o fameul | § OE 39 F 994 it

(1 (0. (E). D). ®),. @A) (2 (A (C). B). D). (E)
3)  (B). (D). (©C). (E). A @ (E).®B).(©0).D). W

[Question ID = 1884][Question Description = Q79_Prakrit_SHAAN_NOV21]
1 [Option ID = 7533]
2 [Option ID = 7534]
3 [Option ID = 7535]
4 [Option ID = 7536]

A W N -

79)

(A) anantahamsa
(B) vimalasiiri

(C) dhanesvarasirl
(D) devendrasiri

(E) laksmanagam

Choose the correct answer from the options given below :
(1) (B (C). (E), D). (A) (2)  (E).(C). (B). (A). (D)

(3) (D). (E). B). (A). (C) (4 (D). (C). (A). (E). (B)

s To=nt i FeEaTET =ET # - (I ° 51 & %A )

(A)  FEAEE

B)  fmemR

(©)  wFHvEEH

D)  FEEE

(E)  <I&Homm

Hia f2u U faeai § ® W 3T 0 =94 i

(1) (B).(C). (E). (D). (A) (2) (B), (C). (B). (4. (D)

(3) (D). (E), (B). (A). (C) (4) (D), (C). (A). (E), (B)

Arrange the following authors in chronological order : (from early to later period)



[Question ID = 1885][Question Description = Q80_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7537]
2. 2 [Option ID = 7538]
3. 3 [Option ID = 7539]
4. 4 [Option ID = 7540]

80) Arrange the following authors in chronological order — (from early to later period) :

(A)  jinaharsasfri
(B) mahesvarasirl
(C) mahendrasir
(D) haribhadrasiiri

(E) paumacandasiiri

Choose the correct answer from the options given below :
(1) (C). (E). (D), (B). (&) (2) (B). (C). (E), (A). (D)

(3) (D). (B). (©). (E). (&) @ (E). @A), ©). D). (B

Freaferfiaa T 1 FICEHAEER =ERgd # - (9 ° §E % %E §)

(A) T
(B)  mavawHf
(€ wEagh
(D) =fogh
(B)  wswEegR

I 20 T famwea § | TE I W == i

(1) (©). (E). (D). (B). (4) (2) (B). (C). (E). (A). (D)

(3) (D). (B).(C). (E). (&) @ (E). ). (C). (D). B

[Question ID = 1886][Question Description = Q81_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7541]
2. 2 [Option ID = 7542]
3. 3 [Option ID = 7543]
4. 4 [Option ID = 7544]

81) Read the following and arrange them chronologically from early to later period.
(A) paivalacchinAmamala

(B) prakritpaingalam

(C) vIttajatisamuccaya

(D)  kawvidarpana

(F) ravanavall



Choose the correct answer from the options given below :

(1 D). B). A). (E). (C) (2 ). D). (©). ®B). (E)

(3)  (O). (A). (E). D). (B) @ (B).(C). A). (E). D)

T = =i A ¥ Il w0 § 39 FEEHT g )

(B)  WFHAEE
(C)  FEmiET=
(D)  FHfagdw

(E)  wvmEet

I f2u 1o famem § |/ wE 30w 9 e

(1) (D). ®B). A). E) (C) (2)  (A). D). (C). (B). (E)
(3) (O (&), (E). (D). (B) @ (B (C). ). (E). (D)

[Question ID = 1887][Question Description = Q82_Prakrit_SHAAN_NOV21]
1 [Option ID = 7545]
2 [Option ID = 7546]
3 [Option ID = 7547]
4 [Option ID = 7548]

A wWw N =

82 ; ; : i
) Read the following and arrange than in chronological order from early to later period :

(A) hemacandra
(B) vararucl

(C) canda

(D)  trivikrama

(E) markandaya

Choose the correct answer from the options given below :

(1) (B (C). D). (E). A) (2) (). B). (A). D). (E)

(3  (E). (D). (B). A).(C) @  A). 3. ©).E). D)

FIfRT T 1 gl T Il FeTaEaT S HE R #H)

(&) =g

(B) ===



(C) =5

(D) T
(E) #Arhvzg

A= 20 T et § | HE I =59 Fire

1) B®.(C). D). (E) &) (2) (). B). (A). (D), (E)
(3)  (E). (D). (B). (A). (C) @ (A [B). (O). (E). D)

[Question ID = 1888][Question Description = Q83_Prakrit_SHAAN_NOV21]
1 [Option ID = 7549]
2 [Option ID = 7550]
3 [Option ID = 7551]
4 [Option ID = 7552]

AW N =

83) Read the following texts and arrange in chronological order from early to later period :

(A) Vasunandisravakacara
(B) Sammaisuttam

(C) Dravyasamgraha

(D)  Acarangasutra

(E) Pravacanasara

Choose the correct answer from the options given below :

(1) (E). (C). (D). (B) and (A) (2) (©). (E). (A). (D) and (B)

(3) (D). (E). (B). (C) and (A) (4) (A, (C). (E). (D) and (B)
(A)  FEACAERER
(B)  =wEEA
(©) zomEmE
(D) A=A

(E) TI=THT

= v o Tt | ® wE I w0 =g i
(1) (B (0. D). (B) 3 (A) (2 (O). (B). (A). D) =T (B)
(3) (D). (B). (B). (C) = (4) @ (), (C). (E). (D) 3 (B)

[Question ID = 1889][Question Description = Q84_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7553]
2. 2 [Option ID = 7554]
3. 3 [Option ID = 7555]



4. 4 [Option ID = 7556]

84) Arrange the following works in chronological order — (from early to later period) :

(A) Titthayara Bhavana
(B) Kappuramafijari
(C) Kuvalayamala kaha
(D) Setubandha

(E) Paumacariu

Choose the correct answer from the options given below :

1y ). (B).(C). (E). (D) 2y (©). (D). (A). (E). (B)

3 D). (©).®B).A). E) (4) (D). (C). (E). (B). (A)
FfeTEa Fioat i 98 3T FTHAEER Haead # - (T H o A F FE °)

(A)  TAewER wrEom
(B)  FoEEEd

(C) DAATHTATHE]

(D) HFFH
(E) w=m=is

Hi= 20 U faepeat 5 H w39 R =9 i

1 @). ®.(C). (E). (D) 2y  (©). (D). (A). (E). (B)

(3 (D). (). B). A). (E) @ (D). (C). (E). (B). (A)

[Question ID = 1890][Question Description = Q85_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7557]
2. 2 [Option ID = 7558]
3. 3 [Option ID = 7559]
4. 4 [Option ID = 7560]

85)  Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R
Assertion (A):  Muitreya converses In Saurseni in mrucchakatikum
Reasons (R) : According to actryva Bharata vidusaka uses saurseni in drama.

In the light of the above statements, choose the most appropriate answer from the options

given below :



(1)
@)
(3)

(4)

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 1s correct but R 1s not correct

A 1s not correct but R 1s correct

= 2w fau w2 ;v afaFuA (Assertion A) F =9 ¥ fafiad 2 91 797 39 FA0 (Reason R) F

=W -

ATFI (A) . FeSwEEq B T wEE | wae w1 2

F1m (R) A WA % TIEE T2E § fEuh e 1 TEe e 2|

T Y & AT 8, T {3 T e 8 3 e sageR I 0 99T A

1)

(2)

(3)

4

(A) #iR (R) =1 @& 2 =1 (R). (A) 1 =8 =z 2
(A) R (R) FH1 74 &, w04 (R). (A) F1 721 =men T 2|
(A) wF 7 A (R) TF1 7 2

(A) w# 7E 2 =R (R) 5 2

[Question ID = 1891][Question Description = Q86_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7561]
2. 2 [Option ID = 7562]
3. 3 [Option ID = 7563]
4. 4 [Option ID = 7564]

86)

Given below are two statements : one is labelled as Assertion A and the other 1s labelled as

Reason R

Assertion (A) : Uttiviseso kavvam bhasa ja hou sa hou.

Reasons (R) : Nayacandra has characterised the nature of drama in above statement.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both A and R are correct and R 1s the correct explanation of A

(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 1s not correct but R 1s correct

A= 71 w9 T3 U 2 v Af9FUa (Assertion A) % =0 H foifiad & A A 5% #00 (Reason R) %

=

AT (A) :  SHlEEE F= 9w A A )

FH0 (R) : T A IAE FYA | AEF ==Y qqE 2 |



IR U F AT °, A T 0 e § s s9geh I = i
() ()3 ®)FF T E A0 R), (A) F 78 == 2

(2)  (A) 3R R) A TF E, TR (R), (A) T TF = w5 2

3) (A FA R = (R) T T 2

(4) (A T FE 2 A (R) T8 2

[Question ID = 1892][Question Description = Q87_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7565]
2. 2 [Option ID = 7566]
3. 3 [Option ID = 7567]
4. 4 [Option ID = 7568]

87) Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R
Assertion (A):  palyasaddamahannavo is a modern and useful dictionary.
Reasons (R) : The lexicographer has included maximum of words with reference.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R i1s NOT the correct explanation of A

(3) A 1s true but R is not false

(4) A 1s not falzse but R 1= true
H= 2 T fam T 2 oF AfEUE (Assertion A) F =4 # fofigd 2 df g0 36F FA0 (Reason R) &
wAfuepsa (A):  SHEHEIVE A% AT FH SEnl e w2

IR HUF F AAE H, 7 70 0 T § F wEE 39w I 99T i)
(1) (&) i (R) FH 707 7 3 R). (A) Fi 78 = 2

(2 (&) 3 R)IH 7 7, S (R). (A) F TE = =

(3) (A== 7 = (R) 9797 2

(4  (A) 278 & =% (R) Oed 2|

[Question ID = 1893][Question Description = Q88_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7569]
2. 2 [Option ID = 7570]
3. 3 [Option ID = 7571]
4. 4 [Option ID = 7572]

88) Given below are two statements :



Statement I : The script of King Kharavela inscriptions is Brahmi.

Statement IT : The Hathigumpha inscription describes the deeds of the king.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II is false

(4) Statement I 1s false but Statement II is true
fagFm oz .
F97 (D) : T, e ATgeE i et w2

Fu9 (ID) :  =APEH ATeTE =1 % T H auE A 2

I HYA F A °, H 2 Rl 9 @ wd T o = i)

(1) == (D 3 A 3+ 73 7

(2 w (D) AR (1) 3T e 2

(3) U (D) a2, AfF #9m (1D 159 2|

(4) = (D) 953 7 0 e (1) 779 2

[Question ID = 1894][Question Description = Q89_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7573]
2. 2 [Option ID = 7574]
3. 3 [Option ID = 7575]
4. 4 [Option ID = 7576]

89 ;
) Given below are two statements :

Statement T : Samayika, stavana. vandand, pratyakhyana. pratikramanpa and
kayotsarga-These are included in Avasyaka duties of monks.

Statement I : The Avasyaka duties are related with basic merits of monks.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement IT is incorrect



(4) Statement I is incorrect but Statement II is correct

= 21 o far e E

Fo (D T, A, TE, TSI, TASAT a9 HEeE 3 6 AETIE wee
o wefer 2
FAD:  FEO0 % §e TN H SETAE FAA HOEE 2

UL YA % ATE °, A= 20 0 e 8§ s sages T 6 =5u #ien)

(1)

(2)

(3)

@

F9A (1) 3R (ID) 31 =& =
Fo (I) #1 (IT) =1 7T 2
Fo (D) T8I 2, S F99 1D 7= 21

T (I) TTerd 2 ol we (1D =7 2

[Question ID = 1895][Question Description = Q90_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7577]
2. 2 [Option ID = 7578]
3. 3 [Option ID = 7579]
4. 4 [Option ID = 7580]

90) The author of Malacaru is
(1) vattakera (2) sivarya
(3 yativisabha (40 gunadhar
TSR o Fl R -
1) T (2 o
(3)  =fgTH (4) TR

[Question ID = 1896][Question Description = Q10_Prakrit_SHAAN_NOV21]
1. 1 [Option ID = 7581]
2. 2 [Option ID = 7582]
3. 3 [Option ID = 7583]
4. 4 [Option ID = 7584]

Topic:- 91PRAKRIT_B

1)

Read the given passage and answer the questions that follow (91-95) :

Taheva pausasamao vi na jetthasamihim susaho. jaya vasentl pa ovaha, jJaya-taya havanti
pacchanna ravivimban duddipani. hiayamkampiam kunemani vijjoal vijju. Gadagadayvamano
kannamilam bhindel puna thaniasaddo. Piechila havanti vattanio. Savedo vahantl ninnado.
abbhantario vi akko alva antaranpgagimhimam anuhavavel jau. tammi ko suhl
Juvaljanavirahic citthium khamo? Vihiparatanto pauttho vi kol giham sambharel
rattidiaham. Ukkitthamantavveanam manel kai pavasiabhattida ‘piu-piu’ tti pappihasaddena
plam samsareman manini.

As per the passage’ the meaning of the word ‘Jetthasamthim’ is

(1)
(2)

(3)
{4)

Dates of the jyestha month

Youngmen of the same age
Householders, the superior stages of life
Meditaters



TEA USHERAAT T3 0 g GEE, FA 9w 9HAEE, F9 a6 wE Tesvn- e giegem fmaE
Fuzt Fumo F=ieE s T=TeE " wvmE figs g aiemEEg| fGfesen wata aeisn | wEenen

| faEwaa wen @ % fr oz ARew. Seguasen Ao wiE Emasen e @
Toftemen fust soEamft arfomf|

TEGA AT AN SgTEdHiE w1 owd # -

(1) =3 = = ot (@) THE 9g F TF
(3) =AW SYHATS TEES (4) == wE aE

[Question ID = 1897][Question Description = Q91_Prakrit_SHAAN_NOV21]

AW N =

2)

1 [Option ID = 7585]
2 [Option ID = 7586]
3 [Option ID = 7587]
4 [Option ID = 7588]

Read the given passage and answer the questions that follow (91-95) :

Taheva pausasamao vi na jetthasamihim susaho. jaya vasentl pa ovahi. jJaya-taya havanti
pacchanna ravivimbani duddinani. hiayamkampiam kunemani vijjoal vijju. Gadagadayamano
kannamilam bhindel puna thaniasaddo. Picchila havanti vattanio. Savedao vahantl ninnaso.
abbhantario vi akko alva antaranpgagimhimam anuhavavel jau. tammi ko suhil
juvaljanavirahio ecitthium khamo? Vihiparatanto pauttho vi kol githam sambharel
rattidiaham. Ukkitthamantavveanam manel kail pavasiabhattid ‘piu-piu’ tti pappihasaddena
plam samsaremani manini.

As per the passage, the word ‘Picchila’ means

(1)
3)

mud (2) back portion
tale (4 sun

SAIferiad =9 H gieu AR HE e T geE % I S -

ard wrEEERAT 9 v SgwditE wea, S awid 9eiEneT, S4 a4 whi qeav-teer giggenen faam
el forvpsna| sewEien & s wEa SaoihiiEe AR 912, a9 R gE Saseiaae fiEE

udffzaer a1 SEEmTl ATl |

T FHTE F AgEn fufemen’ wweg # e 7 -

(1)
(3)

His (2) To@=r 9w

& r

¥ @

[Question ID = 1898][Question Description = Q92_Prakrit_SHAAN_NOV21]

A w N =

3)

1 [Option ID = 7589]
2 [Option ID = 7590]
3 [Option ID = 7591]
4 [Option ID = 7592]

Read the given passage and answer the questions that follow (91-95) :

Taheva pausasamao vi na jetthasamihim susaho. jaya vasenti pa ovahi, jaya-taya havanti
pacchanna ravivimbani duddinani. hiayamkampiam kunemant vijjoai vijju. Gadagadayamano
kannamiilam bhindel puna thaniasaddo. Picchila havanti vattanio. Savedao vahanti ninnaso.
abbhantario vi akko alva antarangagimhimam anuhavavel jau. tammi ko suhil
juvaijanavirahio ecitthium khamo? Vihiparatanto pauttho vi kol giham sambharel
rattidiaham. Ukkitthamantavveanam manei kai pavasiabhattid ‘piu-piu’ tti pappihasaddena



plam samsaremani manini.
Asper the passage. this prakrit word is used for cloud
(1) Vattanio (2) Ninao
(3) Akko (4) Paovvaha

SAIferiad =9 H gieu AR HE e T geE % I S -
ard wrEEERAT 9 v SgwditE wea, S awid 9eiEneT, S4 a4 whi qeav-teer giggenen faam

el forvpsna| sewEien & s wEa SaoihiiEe AR 912, a9 R gE Saseiaae fiEE

udffzaer a1 SEEmTl ATl |

Td AT H Aee H o70 A% Wi WS AT R -

(1) =it (2) fommama

5

(3) =R (4) THAEE

[Question ID = 1899][Question Description = Q93_Prakrit_SHAAN_NOV21]
1 [Option ID = 7593]
2 [Option ID = 7594]
3 [Option ID = 7595]
4 [Option ID = 7596]

AN w N -

4)

Read the given passage and answer the questions that follow (91-95) :

Taheva pausasamao vi na jetthasamTthim susaho. jaya vésentl pa ovahai, jaya-taya havanti
pacchanna ravivimbani duddinani. hiayamkampiam kunemani vijjoal vijju. Gadagadayamano
kannamulam bhindel puna thaniasaddo. Picchila havanti vattanio. Saveao vahantl ninnaao.
abbhantarioc vi akko alva antarangagimhimam anuhavavel jau. tammi ko suhl
juvaljanpavirahio citthium khamo? Vihiparatanto pauttho vi kol githam sambharel
rattidiaham. Ukkifthamantavveanam manel kai pavasiabhattia ‘piu-piu’ tti pappihasaddena

plam samsaremanl manini.
The above passage 1s quoted from the

(1) Viragasetu (2) Rayanavalakaha

(3) Mrechakatikam (4) Kuvalavamalakaha

TrT USEEAAT [ W S gEEl, S G GsAETE, A a6 w6 e -taen g fEaE
Hust FumE fHwiers T T=Tem a0 e fiez gu ufmEEEEn fifeeer safa aovfisn @aene
FEfd oUmaTeT| sEEaien 4 I HET AqCIEE SEATEE T8, Hﬁq?ﬁra-—‘t—ﬂf—:rmﬁ'f'—'aﬂ%rﬁﬁ
Tl fafETwEs e @ we e aws dARwE. shegaase qo W EeasEen -t
FfEgRT Tos TeamTft Ao |

(1) T (2) TR
(3)  FeHiCH @ FE

[Question ID = 1900][Question Description = Q94_Prakrit_SHAAN_NOV21]

A W N -

1 [Option ID = 7597]
2 [Option ID = 7598]
3 [Option ID = 7599]
4 [Option ID = 7600]



5)

Read the given passage and answer the questions that follow (91-95) :

Taheva pausasamao vi na jetthasamihim susaho. jaya vésentl pa ovahai, jJaya-taya havanti
pacchanna ravivimbani duddinani. hiayamkampiam kunemani vijjoal vijju. Gadagadayamano
kannamilam bhindel puna thaniasaddo. Picchila havanti vattanio. Savedo vahantl ninnado.
abbhantarioc vi akko alva antarangagimhimam anuhavavel jau. tammi ko suhl
Juvaljapavirahio citthium khamo? Vihiparatantoe pauttho vi kol giham sambharel
rattidiaham. Ukkitthamantavveanam manel kai pavasiabhattid ‘piu-piu’ tti pappihasaddena

plam samsaremanl manini.
This season 1s described in the above passage

(1) Summer (2) Winter

(3) Rainy (4) Spring

FAGIeATEd T i UfeT R e e T uE % 3w dite -

Ted TEEERT 3 W SgweiE gEel, S Gt 9siEnE, S a6 w6 e -iaenr gEgmn e
Fust Fom FiAg fTw) Terew Awn Fvvme fass gn avemEE e s aeoiien) gEene
el omAE| WA [ R 95T SIS AvEAEs 12, 9 g s s

i fafeuaar gsed o we e dwiz doRkws. stezgassn oo wE wgibgea foe-fae’ &
aodffEEey 931 SEEmTl AT |

TG =S ¥ 36 Sk 1 GvH f6ET TR -

(1) = (2) =9

r

(3) A (4) ===

[Question ID = 1901][Question Description = Q95_Prakrit_SHAAN_NOV21]

A W N -

1 [Option ID = 7601]
2 [Option ID = 7602]
3 [Option ID = 7603]
4 [Option ID = 7604]

Topic:- 91PRAKRIT_C

Read the give verses and answer the questions that follow. (96-100)

Sariradu varam indi indivatto varam mano.
manasa ya varam bohi. appa hi bohie varam.

jo janadi nivappanam so janadi caracaram.

jo na janadi appanam. so na janadi kinei vi.
kasaya-sanjudam citam, taccam no avagahade.
jaha nilambare ratte sedavanno na ranjadi.

jada hi mohapankam ca, buddhi sufthu tarissadi.
tada nohidi nivvedam bhoga-dehader logado.

so dhammo duviho neyo. sayaro apayaro ya.

anuvvada-mahavvado, jutto kameda bhasido.

catta asamjam savvam sarmjame hi pavattanam.

egenadukkhasam saro. annena sagga-mokso va.

According to the verse the gradual superiority is thus

(1) Practice — devotion — austerity — meditation

RN T 7 AT —— e - . S0 RE e B w



La) LUy —F oCllob Ul pdlls — 1L — CURLLLaAlll UL
(3) Faith — knowledge — conduct — Penance

(4) Mind — sensory knowledge — clairvoyance — mind perception

HUET A =R AlE, S E | |
Bl EA e B B 1 et ol
= o FontE wAearen, w oo =nts e A=)

HeT viierst T, HEAU 0 G|
w1 T wEwE =, wfg @z afet
a1 Fifefs forsag wm-2arg = |

ANEAZ-HEeaa!, Tl FH |

T ZRIEER], ST AT 4|

AT F FTER HHF A54T 55 THE

@ fF — witH — ITE — 4w (2) '-FFﬁT—bEj:_'";’ff—rﬂ:[—»a-'ﬂH dTcHT
() Wbk e i @ T — 77— v T

[Question ID = 1902][Question Description = Q96_Prakrit_SHAAN_NOV21]
1 [Option ID = 7605]
2 [Option ID = 7606]
3 [Option ID = 7607]
4 [Option ID = 7608]

A wN =

Read the give verses and answer the questions that follow. (96-100)

Sariradu varam indi, indiyatto varam mano.
manasi ya varam bohi, appa hi bohie varam.

jo janadi niyvappanam so jJanadi cardcaram.

jo na janadi appanam. so na janadi kinei vi.
kasaya-sanjudam citam, taccam no avagadhade.
jaha pilambare ratte sedavanno na ranjadi.

jada hi mohapankam ca. buddhi sufthu tarissadi.
tada nohidi nivvedam bhoga-dehader logado.

so dhammo duviho neyo. sayaro anayaro ya.

anuvvada-mahavvado, jutto kameda bhasido.

catta asamjam savvam sarmjame hi pavattanam.

egenadukkhasam saro. annena sagga-mokso ya.

This called the religion of ‘anagarT

(1) Miner vow (2) Gunavrata

(3) éik$5vrata (4) Major vow



HAATE =€ 321, SieATl 9% " |
HuET 7 =2 "itE, Fea 7 aifEe )|

Bl R e M e A e

EIR R R M B e o R e

AT Uies T, HEAu 0 e |
T ZRIEER], ST H-HiwE] 4|

T2 ‘AT W U Fee E

(1 HAHAT (2) TEd

o ]

(3)  foaEa (4) #EEd

[Question ID = 1903][Question Description = Q97_Prakrit_SHAAN_NOV21]

A W N -

1 [Option ID = 7609]
2 [Option ID = 7610]
3 [Option ID = 7611]
4 [Option ID = 7612]

Read the give verses and answer the questions that follow. (96-100)

Sariradu varam indi, indiyatto varam mano.
manasa ya varam bohi. appa hi bohie varam.

jo janadi nivappanam so janadi cardcaram.

jo na janadi appanam. so na janadi kinei vi.
kasava-sanjudam citam. taccam no avagahade.
jaha nilambare ratte sedavanno na ranjadi.

jada hi mohapankam ca, buddhi sufthu tarissadi.
tada nohidi nivvedam bhoga-dehader logado.

so dhammo duviho neyo, sayaro anayaro va.

anuvvada-mahavvado, jutto kameda bhasido.

catta asamjam savvam samjame hi pavattanam.

egenadukkhasam saro. annena sagga-mokso ya.

“He who knows one, knows all” this sense 1s found 1n this sentence.

(1) catta asamjamam savvam, samjame hi payattanam
(2) jo janadi nivappanam. so janadi caracaram

(3 jahi nilambare ratte. sedavanno na ranjadi

(4 manasa ya varam bohl. appa hi bohie varam

T R 341, St % Tom|
HUET 3 R dlE, T E | 9|

1 oS o, @1 [ =

F1 7 HnfE SAearer, |y or wontg R )



AT Uieis T, HeAu W =G|

7 oA ZfET U, S A A

=R -AE=EEl, A FA g |
Y] SEGEET, ST H-AEE ||

“F1 v F AT 2, 9 FEH A0 2 TE W9 THH HHIED B

(1) =1 9= Tea, g5 T2 99| (2) = womte foEroTT, = oSN ==
(3) T e T, HEAvOT U7 TR | (4) ToE T = "E, A T A =)

[Question ID = 1904][Question Description = Q98_Prakrit_SHAAN_NOV21]

A W N -

1 [Option ID = 7613]
2 [Option ID = 7614]

. 3 [Option ID = 7615]

4 [Option ID = 7616]

Read the give verses and answer the questions that follow. (96-100)

Sariradu varam indi indiyvatto varam mano.
manasa ya varam bohi. appa hi bohie varam.

jo janadi nivappanam so janadi caracaram.

jo na janadi appanam, so na janadi kinei vi.
kasaya-sanjudam citam. taccam no avagahade.
jaha nilambare ratte sedavanno na ranjadi.

jada hi mohapankam ca, buddhi sufthu tarissadi.
tada nohidi nivvedam bhoga-dehader logado.

so dhammeo duviho neyo. sayaro anayaro ya.

anuvvada-mahavvado. jutto kameda bhasido.

cattd asarhjam savvam samjame hi pavattanam.

egenadukkhasam saro. annena sagga-mokso ya.

‘rafjadl’ the verbal form belongs to this Prakrit

(1) Sauraseri Prakrit
(2) Magadhi Prakrit
(3) Ardhamagadhi Prakrit

(4) Apabhramsa Prakrit

HqUET 7 = SiE, AU {7 "iEe =)

1 STontE forEeen, |1 S ==

1 W FOMRE T, | e e =
AT Uieis T, HeAu W =G|



I FESH 7=, g9 T2 e
T ZEGEER], AT FO-AEEl 7|

Yz’ AT T wEa I
(1)  sTEEET WA

(2) =T A

(3)  oTgaFTHi WA

(4)  oTTHI WEA

[Question ID = 1905][Question Description = Q99_Prakrit_SHAAN_NOV21]
1 [Option ID = 7617]
2 [Option ID = 7618]
3 [Option ID = 7619]
4 [Option ID = 7620]

A W N -

Read the give verses and answer the questions that follow. (96-100)

Sariradu varam indi, indiyatto varam mano.
manasé va varam bohi, appa hi bohie varam.

jo janadi nivappanam so janadi caracaram.

jo na janadi appanam. so na janadi kinei vi.
kasaya-sanjudam citam. taccam no avagihade.
jahi nilambare ratte sedavanno na ranjadi.

jada hi mohapankam ca, buddhi sutthu tarissadi.
tada nohidi nivvedam bhoga-dehader logado.

so dhammo duviho neyo, savaro anayaro va.

anpuvvada-mahavvado. jutto kameda bhasido.

catta asamjam savvam samjame hi pavattanam.

egenadukkhasam saro. annena sagga-mokso ya.

“Anuvvado” the word denotes this sense

(1) deception
(2) vollation

(3) householder’s duty

(4) monk's duty

quEr 7 1 Aite, v 7 st a1
=1 tromte forraTer, | sonfe =T
F1 v FofE yoarr, &t o stz R )

—_ T T TS T T |



a1 Eifels U wr-gEr «e ||

AR -HE=EEl, HAl HH wifEE | |

T SRGHER], ST T-HiwE 91|

“amEEEl ug w1 e T B

(1)
(2)
(3)

(4)

TETER

[
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[Question ID = 1906][Question Description = Q100_Prakrit_SHAAN_NOV21]

1
2
3.
4. 4 [Option ID = 7624]

. 1 [Option ID = 7621]
. 2 [Option ID = 7622]

3 [Option ID = 7623]

Topic:- General Paper_Set1_A

1)

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 32
Sales (SA) 12% b:3
Construction and Maintenance (M) 9% H:4
Profezsional (PR) 18% 5h:17
Management (MA) 21% 3:4
Production and Transport (PT) 19% Fra
Others (OT) 6% ]

FefetEd aifers W fa=m fifae 558 o 57 50 99 3 T = 5 & § 9na 5 e 1 e
(%) Taemor Qo geg-ufeen wEEe wquE g9 T 2| '@l & % Per weed H Ged 80 @
ATt T T2 U S77RS] % YW T YTT 397 a0

ufdeE (%) o | -t s (g o9 )
Fa1 (uF g) 15% 3:2
e (TE ) 12% 5:3
famtor afft sz (i uw) 9% 5:4
mHTEe (i ) 18% 5:7
Te9F (UH 1) 21% 3:4
FearEA AR i () 19% 558
= (T Y fo a.E




What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

aeft &1 =1 e qwy FEwe Fi afted @ o 27 (Z9Hed & g T a6h)

(1) 6.39 =g (2) 4.69 @@

(3) 5.96 ©ng (4) 7.48 @@

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8025]
2. 2 [Option ID = 8026]
3. 3 [Option ID = 8027]
4. 4 [Option ID = 8028]

2) (Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforee of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1z 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: B
Service (SE) 15% 3:2
Sales (SA) 12% B 3
Construction and Maintenance (M) 9% b:4
Professional (PR) 18% b
Management (MA) 21% 3:4
Production and Transport (PT) 19% 553
Others (OT) 6% 3:D

frefafes oo @ fo=m Hifsw 5o o o7 5o =d § oo = fafim &t © e & wrdse =1 afem
(%) faamo aw p-AfEen FEEe FATE SwE e 2| @ & % Fe FEee H e 80 @ng 2
ATt | 1238 70 ARSI % S9N T U 39 20

YA % FEEE F1 SFan G

wfeer (%) fere | geg-wfeen wigam (709 )
a1 (TF ©) 15% 372
ey (ug ) 12% 5:3
fomto it sram (d ) 9% 5:4
TETHE (i ) 18% 57
TEgT (TH ©) 21% 3:4
JoareA i it (fF #) 19% 518
w1 (= ) 6% 3:5

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?
(1) 330% (2) 318%
(3) 320% (4) 80%
Ug $ o ot S &G H e Afee #Eee i $e gen d vg e | Seig g wEee 6 e w5

(1)  330% (2) 318%



(3) 320% (4) 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8029]
2. 2 [Option ID = 8030]
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together is 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 42
Sales (SA) 12% ST
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% BT
Management (MA) 21% 3:4
Production and Transport (PT) 19% B
Others (OT) 6% ]

ffafed aifes = faam fifse f5om o 57 5o ad |4 oFm = fafim &t © e 5 s =1 afam
(%) faamm =1 ge9-afeen FEEs emuE @ T 2| @ & % Fe wEew S w80 od 2
Alferent ® T8 70 377 = YR W UgH = 391 4iey)

HRA % FHEEE 1 AT [E

fawrd (%) faaeor | gea-afeen sgea ((7:9 )
HaT (7 3) 15% 3:2
ey (TH ) 12% 5:3
Frmior aft srpam (d w) 9% 5:4
TFETEe (f 5mw) 18% 5: 7
TaE (TH ) 21% 3:4
Ieara ¥R i (d #) 19% 5:3
a7 (= &) 6% 3:5

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) 87%

(3) 89% (4) 85%

TH T HN UA U EAT °§ G 969 hE€e S Fel A of 4 9 H Ed e i el BEdr H o
o faeE 27

(1)  82% @) 87%
(3)  89% 4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036]



4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforee of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1z 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: B
Service (SE) 15% 3:2
Sales (SA) 12% B 3
Construction and Maintenance (M) 9% b:4
Professional (PR) 18% b: 7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 553
Others (OT) 6% *h

frefafes oo @ fo=m Hifsw 5o o o7 5o =d § oo = fafim &t © e & wrdse =1 afem
(%) faamo aw p-AfEen FEEe FATE SwE e 2| @ & % Fe FEee H e 80 @ng 2
FATfeA=T | 128 70 ATFS] F 9N W U9 F I A0

WG & FEead 1 S99 Haam

TR = & R =T FEEA
wfeerm (%) fere | geg-wfeen wigam (709 )
a1 (7 F) 15% 3:2
ey (ug ) 12% 5:3
frmior o srEam (o) 9% 5:4
THeFe (i #w) 18% 5:7
TaYT (T T) 21% 3:4
Jearea A ufEe (4 19% 5:3
w1 (= ) 6% 3:5

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs

(3) 5.7 lakhs (4) 13.2 lakhs

TH U 3R UH U &1 § wEea Afeen FEee # Fa qed i f A f9 # we atEen wEee fiwe w5
it FRa 27

(1) 5.1 9@ (2y 7.5¥mM3

(3) 5.7 (4) 13.2 =g

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

™™ 7 A M. i | =T _ 1. . T 3"



AR Y LIl WO LUIL WY RIL AL L JLIN G
Percentage (%) Ratio of Male to Female
Distribution M: B
Service (SE) 15% 32
Sales (SA) 12% B3 3
Construction and Maintenance (M) 9% H:4
Profezsional (PR) 18% 5h:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% FraE
Others (0OT) 6% ]

FfatE aifers W fa=m fifse 5o o 57 50 99 1 W % f5fm g § 9ne F e w5 ot
(%) femmo a1 gEe-HfEen HEee WaE @ T 2| @l g % B wEee F e 80 O 2|
Alfernt ° T2 710 SRSl o YR W UeE o S St

wfaerd (%) faewor | gey-afEen squm ( 7: 7 )
a1 (uF ©) 15% 379
Ted (TE ) 12% 5:3
i+ srgeam (o) 9% 5:4
mHTEe (i Hw) 18% 5:7
TauF (UH 1) 21% 3:4
Ieared 3 ufEea (d &) 19% 58
a7 (= ) 6% 8.5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17 :39 (2)16: 37

(3)16:35 (4)16: 39

ot TA &7 d FEe afzer SEse $ gEar @ d 97 vd o1 & Al U w959 S i gel S H

ST T 7
(1) 17:39 (2) 16:37
(3) 16: 35 4y 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1 [Option ID = 8041]
2 [Option ID = 8042]
3 [Option ID = 8043]
4 [Option ID = 8044]

A W N -

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

HEAH T8 T ¥ G TR FER 31 gEE 6 A T AR 6 S e e e W R B 7

() == (2) S =
(3) T =1 (4) w@EET TFEE =T

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8045]
2.2

[Option ID = 8046]



3.3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

ffatEs T2 g erH qumen i g1 E e ae gadt G et % e g fafee

T 2| 3% g 1 FaEn 4T i AHA 2| T A T H AqEa an S8 % S A 27

(A)  reH-auar (gme)

(B) T

(D) ==ET

(E)  A5igan

e feu o fasedi # @ wF ST 1 wEA HifC

(1) (&) =R (B)
2 (B) 3R (©C)
3 (D) R (E)
(4)  (B) = D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8049]
2.2

[Option ID = 8050]
3.3

[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List I

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List I Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (l) Using Swayam and Moocs

(B) Open and distance learning method (ll) Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(D, (B)-(I1), (C)-(IN), (D)-(IV)

(2) (A)-(1n), (B)-(IV), (C)-(1), (D)-(1)

(3) (A)-(1V), (B)-(lI), (C)-(I1), (D)-(1)

(4) (A)-(11), (B)-(1), (C)-(1V), (D)-(l1)

I TR NN, . B v - SN - % o SRS . (=T, M - =S M U SR -, 01 o, A N . W xS, LS« S e S - S . §



S-S SN SLME-LL T PR TN S T oy sdn T SISl R e e P Sl i 0, SR Spi-
. s & o

11 & s fafem) 1 wwEeiea g 6 aF4® 4 78 2

EiB! T 11

Taregor =t Tafemn TSI S i T
(A) HHA-HEH i SRR G (I)  ¥599 3 q58 F1 7=
(B) T it gt wifemm fafy (IT)  AfisfEa e 4=
(C) forequr =hit S=feen fafa (II) Aisger AT3weaF
(D) foregmn =i sATemes fafa (IV) ufe=m =+ wa-w fomers o

= fou o faseqi # @ | =T w1 wE A

1) (A)-@. (B)-AI), (C)-(III), (D)-IV)
@) (A)-IID. B)-AV). (C)-I). (D)-II)
(3)  (A)-AV). B)-(IID). (C)-AD. D)-I)
4)  (A)-ID, B)-). (C)-(IV), (D)-(I1I)

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (l) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (lIl) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (1) and Statement (ll) are correct

(2) Both Statement (I) and Statement (ll) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (l) is incorrect but Statement (ll) is correct

e (D) IueIied AN FTHARAT W S WA % FH S Ieh A9l 1 S EE

HTFA A % Z(eTE oA Fa e 2
For (I1) - FEE SEe THE 31wt SAthac wiEn gt & & =EEn 3 o
BT #79  UHEA @ A A

IWE HUF & A °, 4 50 T e § 6 ged ugw I o 9 i

(1) = (1) @ (1) 341 w8 2
(2) T (D) =77 (1) 241 T 2
(3) = () =l 2, &t Fom (10) 77 21

(4) =9 (1) e 2, s w00 T8 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]



5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 91 v fau w2 wm wAfgmeH (Assertion A) % T H fefad g A g 305 F9 (Reason R)

wfame (A) - foem & smgf o oe = A | weEE gt w1 FiEa s srfemm o
i SEAH S 2

FA (R) TRt Wt foveror TETrT wonedt = afoy wfifTateAt § gaw F @y =g e A
Fifew|

IUTI e & AT |, H= 2 T e | ® @ 39 % =9 i

(1)  (A) 37T (R) 2F1 727 3 201 (R), (A) Fif =&t = 2)

(2) (A 37T (R) 2FT 503 7, A (R), (A) Fit Tt =men 75 21
(3)  (A)med 2, A (R) 70 2

(4)  (A) 37 2, |fFF (R) &7 2

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant's perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

TF| TR F Ty | UiEETi-uies = aeEEd e T a v

(1)  F=mdta ang (2) tfaefas wy
(3)  =AEATT® WY (4) TEFTE g

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

aftpenr aftee fomdt aforfa = 9t wifagfe =7 smfe % =9 4 = 2, o9 i F=fafes 5 9 & G

= TIE TN & 7

(&) faeromers fafa
(B)  wrmeR= fafy

(C)  =MEEH fafa



(D)  ufderias f&fy

(E)  =amaress @iy

Jrer fou o faspeat @ @ wEt 3m 0 =Ea i

(1) (&) R (B)
(2)  (B)#HR(O)
(3)  (C) ¥ (D)
(4) (D) ¥ (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List I  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (Il) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(1n), (B)-(IV), (C)-(I), (D)-(1)

(2) (A)-(D, (B)-(I1), (C)-(ln), (D)-(IV)

(3) (A)-(In), (B)-(lI), (C)-(1), (D)-(IV)

(4) (A)-(1n), (B)-(h), (C)-(1), (D)-(IV)

-1 = =9 g=-11 1 fiem Fifoe) g1 8 oy & =20 920 2, S50 g=-10 1 315 g0 95 T4+

-1 T 11

e = = TR § AT AATE! A
(A) wwEET HEE (I) SISl =1 AR &1 a6 Tead i
(B) wfeewr fmm (II) v Fevk T2 H 3HEAT B T
(C)  fae== ulwan =1 =594 (ITT) == & %= § g%F 999 236
(D) @TeT fagem (IV) =0 = =7 % == gy T w0

= fou o ool ® O wE 39 %1 =Ee FiAU

1) (A, B)-AV). (C)-(ID). (D)-(D)
@ (A)-D. (B)-AD. (C)-(IID). (D)-AV)
(3)  (A)-D, B)-AID. (C)-@). (D)-AV)
@)  (A)-ID. B)-D. (C)-(D). (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (l) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (Il) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (Il) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false



(4) Statement (l) is false but Statement (ll) is true
F= 2wy fRu T -

w4 (D) U WH-TEE AT AY-UF H ogd N @A % ey AR el % s i A T8
et 2|
Fo (II) Tt wEHt s W 3 ST w9t e * o i 2

I YA = ATl H, Ji9 20 T Gl § ® HE I 0 =9he it

(1) =9 (D) = (1) 3 =3 21
(2) = (1) 31t (1) 3T w7@ed 3
(3) = () ucd 2, < 9 (1) 31 2|

(4) = (I) 99 7, witwa waa (1D 909 2|

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Hr 2w fow T # ;. uw sfieue (Assertion A) F &9 ¥ fafiga & ZE 3@F FAY (Reason R)
FHETH

ATERYT (A) et wg wfeRewn (Hy) =1 Fersofie afimesn (Ho) =h emear o qhEm s

=feT|
F (R) : sites e (HLy) 6 e 1 e €9 = 8 74 # 1 e 2

TUIE YA & A °, = 2 e e § 8 wey ugs I 6 99 i

(1) (A) 3 (R) 31 =8  aflt (R), (A) #i = =2 2
(2) (A =R (R)FA TE E, S (R). (A) F1 58 = 2 2
(3) (A=A 2, S (R) 78 76 2
(4) (A =Rl TE B, w (R) R R
[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]

3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

A TH TR Tk an g uE femw fefetae © 9 e e e e e

(1y 30 F9at {2y 30 T



(3) 15 TP (4) 15 a1

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

| TmmTT 1 odE-faE (S) "Let truth prevail” #7

(1) 3 =2z (2) =EFd ST gen
(3 fzfemm (4) "]

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= = w9 o T ¥ uw wfiEYe (Assertion A) F ®9 ¥ fafiga & B IF FAU (Reason R)

AR (A) Al TERY (FT5FRe ) STUETHT AfaF TR S TR E B #, Ty A8 Sisa
61 T9% H THH U9 U2 @ 2

FTT (R) : e T (FisHR) Wi ® asErt 2 i AR =6 2
S YT % AT |, 49 50 0 e § 8 wes S ST R =9 i

(1) (A) 371 (R) M1 T8 2 3710 (R). (A) F1 w2 =m0 2

(2) (A 31 (R) 34T @& 2, &l (R). (A) i 92 sawemn F9 2
(3)  (A)wE 7, = (R) 7A A8 2

(4) (A wE TE R, @l (R) ®A 2

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

FEER % I &9 g IMEFT U AeEhies [ YHR | UH s G J gl w597



(&) = fagm At = ama A @ = F
(B) 3= i Fafyal #19ra * @y afnem 24 % o)
(C)  a7efER & o aone 1 T "eE 6 )

(D) 9= 4w sAH % fore o6 Hifsan =0 geas wara Hifaa g 21

Fr fou o faewi ® @ geE U I 1 T A0
(1) e« (A) 317 (B)
(2) =& (B) #1(C)
(3)  FF9 (C) 3 (D)
(4)  Fad (A) 3T (D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

=1 <t 1 g G T mEw A mAEeE e wi fatea fif)

(A) e
(B)  oTgaa
(C) TEmE
(D) o=

(E) == =1 9 501

dr f2u u fawedl § | wE I W =9 #IA

(1) == (A), (B) 31 (C)
(2)  aa (B). (C) #1 (D)
(3) = (C), (D) 3R (E)
(4) a9 (A), (C) ¥R (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]



4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs. 5,000/- (4) Rs. 6,000/-

U 94 % S UF UHER W A o1 o0" S 3 BEEl | 4000 9, 36 AT 4 HEAL § 4500 T
#iw #Afam s w9 #5000 T A7) I W AN F A FA w4 5000 T A A 3@ ufEwR A sftEn
IR 29T TehaAT o ?

(1)  3000/- =54 (2) 4000/- ¥

(3)  5000/- =5 (4) 6000/ =

[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5 (2) 98.25
(3) 55.75 (4) 56.75

70 ® 90 * s # B AT "Eme = AEd 9an -

1) 765 (2) 08.25
(3)  55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

% =R 33 S 39 g9 W 11 e g9 W fawa gem % v @ Afdq Far 8| Gfowa J§ @
QQ

1) 25% (2)  50%
(3)  70% 4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3)5% (4)7.2%

72 foreft a2g 1 =va gem =E fawa gem = 95% 2 °t =y i afdwEar 7= et

(1) 4.26% (2) 5.26%
(3) 2% 4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a



profit of 30%?
(1) Rs. 1,600/- (2) Rs. 2,000/-
(3) Rs. 2,080/- (4) Rs. 1,560/-

Iz =5 =af Tl a5 #1 25% ufawa =1 514 @ 380 1200/~ 599 4 s=9a1 2 @1 30% = <" FAH F

feru 38 3@ awg =i R Fima W ST 9ET it

(1)  1600/- =93 (2) 2000/- =4
(3) 2080/ = (4) 1560/- =w

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti  (2) Anumana

(3) Upamana (4) Unuplabdhi

T WAATE Z9AmTE § a1 FefatEs § 9 wE-a w96 ame 95 i = 9e 91 F ay oA w

AT 27
(1) w1 (2) ¥gAN
(3)  39EH (4) wETATY

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A), (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

I TR o AFEN AT % W H S 1 HE HE o R

(&) TaEmd v = semEw i wEEar /A ® e (30
(B) WO F FUA (7d)

(C)  wifwamon $i fagh % =9 1 gfe ()

(D) sAfqmon 1 e (wfaE)

(E)  fifza fam =1 22w 2 (Z=mm)

Hr=1 f2u u fasedl § | ®E 39 W =g HIA

(1) (D), (E). (A). (C). (B)
(2) (D). (C). (B). (A). (E)
(3 (D), (B). (E). (A), (C)

(4) (D), (E). (A). (B), (C)



[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]
3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) WWhich of the following schools of Classical Indian Philozophy reduce Sabda pramana

(verbal authority) to inference?
(A) Navava

(B) Vaiéesikas

(0 Buddhists

(D) Mimﬁmsﬁ

(E) Carvaka/Lokavata

Choose the correct answer from the options given below :

(1) (B) and (C) only
(2) (B}, (C) and (E) only
(3) (B) and (E) only
(4) (A), (D) and (E) only

Tef AW 99 T AT TR Is2 THIOT i HIEH % Herd Hidl B 7
(A) =M

(B)  duify=

C) g

(D)

(E)  =mars /e

Hre fou o fasewi # @ W 3T 1 wET HiC

(1)  Faw (B) ¥R (O)
(2) =&« (B). (C) #R (E)
(3)  Faa (B) 3 (E)

4)  FF4 (A). (D) #1 (E)

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (Il) are true

(2) Both Statement (l) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

2t =1 e o #



U (D) T RATE TR SAR T T A T % w2

#a (1) difsheh WA ¥% A1 Sardt & 5 =0 fm usn 8 sae S =i sfew g 18

SaTdt & 7 59 HE A @ 2

IR FHUA F AEF °, S B0 FEe § " g 39w 99 i

(1) =93 (D) =7 (1) 341 a9 2
(2) = (1) i (ID) 241 15 B
(3)  FWA (1) =ca 2, oAl =wu9a (1) s 2

(4) = (1) 989 &, wtFa %9 (1D 909 2

[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8137]
2.2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (1) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (V) Becuase there is smoke

Tt-1 = =g g=-11 1 faem Fifsm)
-1 FhII
T F T T
(&) Afiraron i warn % w0 4 gf (D) T g 2 2 TR A A 2 A Wi
|
(B) =Wm F F9H (D) =TSl 9 AT 2|
(C) fafea Fam = 3gmaw & (TIIT) AT 9818 o 3 2|
(D) Turfue =1 T sTfaamen 1 w9 (IV) w3t =TT gt 2|

= feu Tu faskedi ® @ wE 3w = =EA Hifo

(1) (A)-(I). (B)-(I1II). (C)-(IV). (D)-(II)
(2) (A)-(IV). (B)-(III). (C)-(I). (D)-(II)
(3) (A)-(III), (B)-(IV), (C)-(I). (D)-(II)
(4) (A)-(IT), (B)-(I). (C)-(I1I). (D)-(IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]



26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than

previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

UF W75 2 HOE 3 B B ¥ U A9 Hise @ o9 1 i R 2 T e fage o gua w2 oaw
1 TUel SUE Aigelt $1 STUET STHE B B SR 799 § 79 2

(1) wE= (f=) = (2) w1 ST
(3)  difers &2 1S TiEA (4) ue =i St e

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : Every general-purpose computer must have an Operating System (OS) installed on it.
Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 2 Fua By v # ;v wiimu (Assertion A) % w9 H fafigd B Al FHI 0% #00 (Reason R)
FEIH

wFEE (A) e T AT REE H U AT [ Sy =Y ° SR e Smae)
# (R) A FR wege Hig G W AE | 5aiE A5 e w9 |

I FUA o AEF H, A9 20 T famet § O A 39 W 99 S

(1) (&) 3 (R) 3H1 509 £ &1 (R). (A) Fi 7 =men 2

(2) (A (R) A A E, A (R). (A) F FE =men 75 2
(3) (A=A, ®f (R) 578

(4)  (A) 3= 2, AFF (R) O 2

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) ldentify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :
(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

ueH 931 H GEE D] AHAT % 3 § ETeIEd RS GEAIH] % AR 3 =i TR i)
(A) 1500 M Bytes
(B) 5 K Bytes

(C) 1 G Bytes



(D) T Bytes

Hr= fou o fashedt © ° @9 3T R =99 i

(1) (D), (A4, (C). (B)
(2) (A (D). (C). (B)
(3) (A). (B). (C). (D)
(4) (D), (C), (A). (B)

[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (I) : Wi-Fi has a shorter range than Bluetooth.

Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

FAEEE % FEY # TEE gy 3 ANE-wE At ge 7, A g wYF ffr

w97 (I) : aTE-F1E H I T H FHH a2
w9 (ID) : TE-FTE F ATAS W weey i e Fwa el did 3 W 22 g9 o A 2|

YT YA % AT |, A 2 T ferEedl § ® |@El 3 w0 =Ee i

(1) =99 (1) 3 (1) 241 Teg 2
(2)  =wue (1) 1 (ID) 341 #18ed B
(3) = (1) &ea 2, e =9 (1) 3160 2|

4) = (1) 999 &, @i #9a (1D 909 2|

[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List Il :

o1 = |y g=i-11 = faere i)
Gt -1
(Fregen et w5s) (srr)
(A) OCR (I) 2fha =1 eafeigd SeamEs = S5 %
fere uge wrar 2
(B) OMR (I) w-Tamedia whansl # wF 729+ & fa

. ey e « n g - —



(L) BEmail (111) -HHEA=FAH HEEHRIH

(D) Instant Messaging (IV) HHFeTH q:ujH:th

Fi= fau mu kel 9§ wE I w1 = Fif

1) (A)-AD. B)-d). (C)-AV), (D)-IID)
@) (A)-AD. B)-A). (C)-ID). (D)-AV)
(3)  (A)-M. (B)-(D), (C)-(III), (D)-IV)
@)  (A)-D. (B)-AD), (C)-(IV), (D)-(IID)

Match List I with List IT :

List I List IT
(Computer Terms) (Purpose)
(A) OCR () TUsed to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-choice
examinations
(C) Email (IIT) Asvnchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :

(1) (A)-(ID), (B)-(D). (C)-AV). (D)-(I1II)

(2) (A)-(IT), (B)-(I), (C)-(I1ID). (D)-(IV)

(3) (A)-(D). (B)-(ID). (C)-(III). (D)-(IV)

(4) (A)-(D). (B)-(II), (C)-(IV). (D)-(I1T)
[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8161]
2.2

[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

Frferfiga 9 & Hi9-91 U 3SF H A FE A gy 27
(1) @ow SEAFEES (2) THuTEs FES
(3)  FEA TEaEEES (4) ¥

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frferfiga o @ FF-m =1 Hia G 91 % w9 TE 27
(1) v (@)
(3) e (4) g

[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]



33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic  (4) Storm

Ffafad ¥ O -5 THF AR IO A B 3F I A G FE TE w ¢
(1)  y=m (2) waEHE T
(3} f_-”f (4) ?R:FF[

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

qPA TR I wEEE w5 9 % #5349 § NMSHE Fefatad § o e aamem 27

(1) National Mission on Solar-Hydro Energy
(2) National Mission on Sustaining Himalayan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

frafafed @ o o7 ugut =1 wfage 799 591 & e 3T Ferarg aiedd W oasar £ 7

(A) B SEATETES
(B)  FOmHE 9214 (PMas)
(C) ==

(D) e

(E)  T5gHE AFEES

e T30 U faedl § H HE I H I I

(1) =& (B), (C) =it (D)

(2) == (A). (B) 31 (C)

(3)  Fa= (B) 3 (D)

(4) A= (B) 3R (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]

1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]



3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
o o & "2d H, U S=a9 FEeE F g e B uE uEgdE dgn ° fHgiid e 6 e
Frrfetiaa # @ P wdm e /amea =i g e e

(1) 7 (2) wH
(3) wdEisamA (4) uamEHi s

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :
List1 ; ; ; ;Listll

(A) NAAC ; ; (1) Delhi

(B) NIEDA ; ; (II) Bengaluru

(C) NDRI ; ; (lll) Lucknow

(D) CDRI ; ; (IV) Karnal

g1 % =g g=-11 %7 fem $ifsm)
g=fi-I geft-11
(A) TATTH I fegt
(B) wHaEEzIT (II) =
(C) wa F HAR e (IID) =E=+s
(D) i Ft am ame (IV) =T

= fau o frwedi 4 @ @ 39 1 = Hifw

(1) (A)-AD, (B)-ID. (C)-(I). (D)-(IV)
2 (A)-AD. B)-A). (C)-AV). (D)-(I1I)
3) (A, (B)-AD. (C)-). (D)-AV)
4)  (A)IV), (B)-(IID. (C)-(II), (D)-(T)

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?
(A) Articulate new directions for research and innovation in technology.
(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.
(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).
(E) Build intellectual and institutional capacities in Educational technology.
Choose the correct answer from the options given below :
(1) (A), (D), (E) only
(2) (A), (B), (E) only
(3) (B), (D), (E) only
(4) (A), (C), (D) only
7% frem g (07 € 01)-2020 # w3 £ F o F T T w1 OWAE 2| o6 FEE F Tt = 9 i



(A)  TrENRER H aEEeE R F9EE 5 90 Hew dEE Fe

(B)  ferm =1 wHgH B9 UrnfieRl = U= o @€y ° e % ged AEE-UEE B9 U 09 A1 FET

(C) =i a1 SerEn 55 °§ gEEa ag sgardt fames = i )

(D) T qf=El, T i Joa afEds # & © 3w e = omw = eg et
ST 1 AR W 5T S AT T A

(E)  Toen wienifihil 8 siifg® 27 5w smans F1 Ham

Hr fou o faFedl § B wE I w1 = Fiw

(1) === (A). D). (B)
(2) == (A). (B). (E)
(3) &= (B). (D). (E)

(4) e (A), (C). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A), (C), (D) only

(3) (B), (C), (D) only

(4) (©), (D), (E) only

frferfiaa # 8 FH-0 2-=famm 7= 2 7
(A) T=Im

(B) W@

(C)  w==w

D) den

(E) 7%

H= fou o fawedl § © @E 3 w1 =9e Hifa

(1) === (A). (B). (E)

(2) e (A). (C). (D)

(3) %= (B). (C). (D)

(4) === (C). (D). (E)
[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198]

3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]



40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

T TP F T 270 gF A4 2015 ® #ad fawwm |em-4 ¥ geiad Fefatas 4 9 fe-m 95 amaen
T ATt

(1) 379 Taweg ST ageed (2) TUTET e

(3) e TR (4) SR TEER U AGEEA

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]

A W N -

1 [Option ID = 8201]
2 [Option ID = 8202]
3 [Option ID = 8203]
4 [Option ID = 8204]

Topic:- General Paper_Set1_C

The

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1= the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
vear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal. economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UN's socic economic recavery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 300

million people will not be able to meet their basic needs.

TET W HEGHEE U8 99T T §1g 12 T qe I 2

FHIAFT T FHF5- 19 TaME 201 G599 w1 AYds 370w = g9 i {3 faveag & an o wem
oSl T 2| e = % sifaw 241 | ufern °§ suE 3299 % WY FF G SR T BigE el
TR W A I 2| 379 OF @E 9 F 10 9 | A FH & g% 2 @R 5 AeEar # R w
T SEEAE AW S8 U5 1@ 2| Wed 9% SNl e 6% 4 Fal SAa® 8, I8 U SAayd
amTsE-aAlE wwz ff 2| 29 W uew =t TEE UwWied 2| s faemenl weee s iR
(fearit) @ 7 w= & ft o T 9 T W w7, W @ T f9vd R e & 5ed E A9w
e gedl gegl w f 2@ w2 a9 °F dfvas amdE aEtE FEeE o wE w0 o g w s
AH-AE % Sed § e o T 2| w5 S Ae St o A e B 3= T A R afesta
9 @A B0 e W R B g el R B i WHg-az el 98 8| AadE AW EEA w
o & TR 400 fafemm (40 Fs) & o SR ST o 2| v dF 3 wgeE ae ® o A
g (Ifgdm) § 110 fafema smich gen £ =t st o sl 2 7 s00 fafeem (s0 =rg)
S AT S et g A § gued a8 A e

major crisis faced by the world since World War Il is in which area?



(1) Industrial (2) Technological
(3) Communication (4) Health

e favagg = = fova =1 799 791 9% 5w &3 9 510 27

(1)
(3)

S @ e
o= (4) =

[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]

1
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3
4]

A W N -

The
1S

Option ID = 8205]
Option ID = 8206]
Option ID = 8207]
Option ID = 8208]

Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1s suffering under an almost
intolerable burden of loss. But the pandemic iz much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and 1ncome, with no way of knowing when normality will return. Small
islandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

TS I AEEHYEE U 9T $HF @15 4T T W9 H I 2|

FHAFT TEE FG5-19 FEMRT TR 759 F AYTIS I79F T2 Fhe 3R fgm favedg & o i aow
g A 2| et a4 % sifam 241 | uften § sue 3299 % W19 9% G S i BigH Ui
TR B e 99 21 37 OF @ ®9 H 10 9@ o SO I a1 99 7 R ol aead w5 ow #
ST SHEAE AiF IIET U5 @ 2| Weg 9% WEMEI WReT WhZ ° HEl HAUE 7, TE UH AYAE
aETEE-ATE w9z H 3| 29 W U oA SHE Wi | SE% SRRl AEmss Ands i
T TUTE USH A § TR o wee qs e T A B | g ag s weEitas st
(feradt) @ 7 wa & ff o T 9 T W T R, 919§ 7% fOve TR e & 5eAn ¥ 99 ®
= wedl geE w1 A 2@ w1 2 9w 9% afvew amdm et fEea F e W ot 3w e
oA % Agcd 3 e e T 2w S A S ol arm e w 3| 3= 98 e o afiesfe
w9 GEFg B T W A g gl wgl % wiee i wHg-dz Wl 98 B SAaUSE 9 E@eT w6
e & TR 400 fafemm (40 #is) =i i Stwfei s wdl 2| faga s 3 wgEm @ @t oo
w-Tm (ifeE) 4 110 fafem smfeh ser 6 =i soft) soem sifiom 2 7% 500 fafesm (80 =#0s)
ST AT g S # 9 FRE § A T8 A A

pandemic has left which of the following area unaffected?
ocial (2) Economic

(3) Travel and tourism (4) Telecommunication

wemHl = Frefefiad @ o fha &9 g =99 e 27

(1)
(3)

BILIEED (2) i
I SR TEeA (4) FEAR



[Question ID = 2053][Question Description = Q47_GP_20NOV_S1_SHAAN]

A w N -

1 [Option ID = 8209]
2 [Option ID = 8210]
3 [Option ID = 8211]
4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family 1= suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.

T W AEGHEE U2 9T 39 915 T T we % 5 2|

HAFT TEE HIF5-19 TEME 501K 599 F SYdYs 4796 S g9 3R g favag & e o mem
ot g 21 fowet =@ % wifom B4 4 wRen 4wk 329E % WY FE A HIEREH i BISH Terh
TEET B B 99 21 3 7 3@ B9 4 10 9 S S 9 & g9 7 R ol aeEa w5 R #
YT AT A I U TE 2| Weg T UEMN TN HEZ ¥ A AUE 2, TE UH Sgagd
AT -9 e Wi 2| 291 W U4F A THE UANEd 7| 36 OARERN @i s #AN
(fait) @ 7 w= < ff o T 99 T = T R, W § 7 fovg R e & 5eEe E uw
wWEe "edl 953 # W 2@ W 2 99 9% dfve® ueEE et FEee % e W d g u s
A-EAT % Gged 3 e T 2| w2 o A and S ol arm e 1w 2| 3= T8 A o afiesta
w9 GEFE B wEed v A g gidie el % wiee i wHg-ue Wl 9S B SagiE 99 w@eT w6
AT & TR 400 faferma (40 =#ars) =i =1 FrwiE w1 @At | fava s 9 sEE @ 2 R s e
g-Tm (AfEeE) 9 110 fafems s sen it w6 st see wfiom 2 % soo fafem (80 =0s)
A At gfE sEEt W o we § ged T8 E e

Which continent is least affected by COVID-19?
(1) Asia  (2) North America
(3) Australia (4) Antarctica

FH-T1 T2TET FF5- 19 T TeH F7 UG 5241 27

(1)

(3)

i (2) o wufE
e (4) TR

[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]
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1 [Option ID = 8213]
2 [Option ID = 8214]
3 [Option ID = 8215]
4 [Option ID = 8216]



Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1= the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
vear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal. economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UN's socic economic recavery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 300

million people will not be able to meet their basic needs.

TET W HEGHEE U8 99T T §1g 12 T qe I 2

FHIAFT T FHF5- 19 TaME 201 G599 w1 AYds 370w = g9 i {3 faveag & an o wem
oSl T 2| e = % sifaw 241 | ufern °§ suE 3299 % WY FF G SR T BigE el
TR W A I 2| 379 OF @E 9 F 10 9 | A FH & g% 2 @R 5 AeEar # R w
T SEEAE AW S8 U5 1@ 2| Wed 9% SNl e 6% 4 Fal SAa® 8, I8 U SAayd
amTsE-aAlE wwz ff 2| 29 W uew =t TEE UwWied 2| s faemenl weee s iR
(fearit) @ 7 w= & ft o T 9 T W w7, W @ T f9vd R e & 5ed E A9w
e gedl gegl w f 2@ w2 a9 °F dfvas amdE aEtE FEeE o wE w0 o g w s
AH-AE % Sed § e o T 2| w5 S Ae St o A e B 3= T A R afesta
9 @A B0 e W R B g el R B i WHg-az el 98 8| AadE AW EEA w
o & TR 400 fafemm (40 Fs) & o SR ST o 2| v dF 3 wgeE ae ® o A
g (Ifgdm) § 110 fafema smich gen £ =t st o sl 2 7 s00 fafeem (s0 =rg)
S AT S et g A § gued a8 A e

Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC

7/ % @ fvm mean 3 UN it amnfae anfds afomfa (feredt) 2 =t 9903 9o fhar 27

1)
(3)

UNDP (2) UNICEF
UN-GHEP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20NOV_S1_SHAAN]
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1 [Option ID = 8217]
2 [Option ID = 8218]
3 [Option ID = 8219]
4 [Option ID = 8220]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the

greatest challenge we have faced since World War Two. Since itz emergence 1n Asia late last



vear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Streszsing every one of the country it touches. it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income., with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances thiz vear. which could mean 800

million people will not be able to meet their basic needs.

T W HEEHEE U2 AU 36 915 5T T uv % 3 2|

FHAFT = HiF5-19 FEME 501K 569 F SYdYs 479 S g9 iR {3 farag & e f mem
=<t A 21 e ad =% sifon 391 4 ofien 4 sk I5va % WY U GEE AERCR i SisH Ui
TR B B 99 2| 96 7% @2 B0 4 10 A oA SO S T g9 7 IR ot aeear # R
T SEEAE A IS TS T 2| W TE SEEN W 6% 3 T AUE 2, TE Uh SMaE
qETER-AGF wHz G B ZW W TEF A WEH UWEd 2| T OAmwn e aids o
(fadt) @ 7 w= < ff o T 99 T W T R, W @ 7 f9vg R e & 5ed E u9w
e wEdl ggg & ff 9@ w1 @ 9w g7 dfves amdE e FEem & FE w0 off 3w s
AO==7 % 49ra 1 (o9 #0217 37 S e S o o = w 2| I A6l aa e afifrafen
= AEFE B WA R wh gl agl % el Hin 'Ep-te wrel U9 #| SAdiEE MW eneT
AT & T 400 fafema (40 Frs) S i S o1 @At 8| fawa s 7 sgEE @ 2 R s
g-Ta (IfEeE) 9 110 Tafems wmfef sen it w0 st see wifiom 2 % soo0 fafem (80 =0s)
A At gfEd wEEt W o we § ged T8 8 e

In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions

Fifas-19 = el § FeAfaiad 5 ° 59 o241/ 9iuHi & 52 54 i geg 5 g9Ea w7

(1)  wHeq 3am (2) EEe =] g
(3) il gfaeE (4) s afqes
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1. 1 [Option ID = 8221]
2. 2 [Option ID = 8222]
3. 3 [Option ID = 8223]
4. 4 [Option ID = 8224]






